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M
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1.  The Civil wars termed as the Wars of the Roses was fought for which throne ?
(A) British throne (B) French throne
(C) Russian throne (D) Spanish throne

1. PN PR A @llen?i @ (Wars of the Roses) TR 2@ =1l A<aibe Cafeet 2
(A) 3= Fraem (B) waibl PicarE
Q) i oz (D) C>ifig FirgeE

1.  (9@ICoR Y@ (Wars of the Roses) FIG #fb® zyaafer @i Prrapier oy sigeibe zefew ¢
(A) &l Picaew (B) =RT PiiErw
(C) R Picaem (D)  =fe g

1.  TEhRA TERT (Wars of the Roses) TG IEEMAT 96 TSITHEH AT@TE STEHH ?
(A)  dfae TSifeeEA (B) W TSR
(C) ufgant TsifEerE (D) Ef i USfEerE

1. 7 % g§ (Wars of the Roses) e S el 833 ford figmd « faw o ™ 97?2
(A) fofew fegm (B) Y feierem
(C) @ fHEmH (D) wufer T

2.  Identify the correctly spelt word.

(A) Conservation (B) Consarvation
(C) Conservetion (D) Conservasion
3.  Rearrange the following components to form a correct sentence.

i)  where no man had
ii) here we are strolling

iii) ever set foot before

A) (i) - (i) - (ifi) - (iv) (B) (i) - (iii) - (i) - (iv)
C) (i) - (iv) - (i) - (iii) (D) () - (iv) - (iid) - (i)

(
(
(
(iv) on the surface of the moon
(
(
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A sector of angle 30° is cut out from a circular disc of radius 6 cm. The area of the cut sector in cm?

units is :

(A) 3 (B) 4 (C) b5 (D) o

6 G TPIZS GF J&I 2[1 30° (e AT @bt Jede Fl Thereal 21| JeUBR Fawa G2 eTFo
]38
(A) 3w (B) 4w (C) 5w (D) 6w

6 (1.1, PR @G JePR BIFTS (ATF 30° (FIR G 6T FI6I 2 | (FC (el Jeaaiiog Fifer (1.2
O 2 ¢

(A) 3 (B) 4 (C) b5 (D) o

6 9.1, W@ T gAY SEAR X R 30° @ A1 A HAE Sl gRE A SR SR SR g
wHiferen 9.f.2 grfeare S

(A) 3 (B) 4 (C) b5 (D) o

6 U1, o= aTeh U JarR femh @ 30° vl F1 U s wer S 1 we gy s @ S
M2 sPEA AT :
(A) 3 (B) 4 (C) b5 (D) 6

The product of two binary numbers 101 and 10 expressed in binary numbers is :

(A) 1001 (B) 1010 (C) 1100 (D) 1110

WOl @ elleTls R 101 S 10 I 236166 o delleTio 2pr el 29 ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110

w2fb S 7Rl 101 3R 10 G @oret B AR A Ore 2w F0e sihea T ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110

O SHEfSHHET TS 101 3R 10 7 SFsTermRg! A== S hRARE
(A) 1001 (B) 1010 (C) 1100 (D) 1110

T fgamemt st 101 iR 10 1 Torwe famest Temsti § T3 =re fomar 9 ¢
(A) 1001 (B) 1010 (C) 1100 (D) 1110

Paper-IVID 7 P.T.O.



Which word would substitute the marked portion - “The Zebra stripes on roads are for crossing by
people who are walking " ?

(A) Pedestrian (B) Pediatrician
(C) Pollination (D) Postulation

A metal sphere of radius 24 cm is cut into 8 equal pieces and one piece is melted in the form of a
sphere. The radius of the new sphere is :

(A) 12 cm (B) 8cm (€) 15 cm (D) 10 cm

24 (5f PG @B1 AT (9MIFTFF I TN 8 il [ TA B AT GOI9F 7 GF (AT SAFro®
ST (ST TS| ool (AlITTRCOIR TP 29 ¢

(A) 12 f (B) 8 Gofi Q) 15 & (D) 10 i

24 FLI. PN @6 4o (leTRes 8 T A ©itsl THE1 1 = @R GI6 FREIE (A S

SN 2T | ToeT (NETFOF AT 2 ¢
(A) 12 @I (B) 8 Gifl. (C) 15 @i (D) 10 @I

T8 24 9.f1. w'EE T g gEE! 1F 8 Wil E SwEEE SR | faft 9d Wikt safe 2R geR
HIY S S | S TieH Seie 4 aret a9 ?

(A) 129fm (B) s (C) 1549fu (D) 10 9.fA

24 Q.. 550 9Tt U og & el ol 8 SRIeR Zohel | h1el ST © 3R Teh oS ol Tilel o &4 H fasremman
ST R | T e 6 e R

(A) 12 9. (B) 8 ¥ (C) 15 9. (D) 10 9.
Which of the following is a State of the United States of America ?
(A) Hawai (B) Fiji

(C) Papua New Guinea (D) Solomon Island
e @G SRS gEga @3- Iy 2

(A) =RE (B) f#fa

Q) =fi7r Fefifa (D) BT Giolsig

Twa @ i geangs 3 ey

(A) e (B) e

(C) =iio@ WE wfm (D) CAICETIS Blolo)g
TR STelAT STHTERT S1TE B J g U=l ?

(A) @@ (B) Tw&

(C) rgen =g ffq (D) W' feadr
frefafad § @ ®F-T1 9 T STRET &1 Th T § 2

(A) TR (B) frstt

(C) rgen =g feit (D) | g
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A geometric figure has two pairs of parallel lines, intersecting at right angle. One pair is of length
8 cm each, and the other pair is of 6 cm. If the longer pair size is increased by 2 cm each, while the
shorter pair is reduced by 2 cm, which of the following statements is correct ?

(A) Area of the figure decreases (B) Perimeter of the figure increases

(C) Perimeter of the figure decreases (D) Area of the figure increases

@I @F TReF Bae TS (F FAE TR AN @G WqA(g| 3@ GRS AfSGR 0
8 (5.1, == SR e 6 (5.5, 1 A W (199 Aie@T efS 2 6. 3 3 e 56 @ e
2 (5.1 F g1 391 =7, (o8 Ml (@ Ofe we 29 2

(A) BanR CFawe g 27 (B) @R «fTwl Ifw
(C) Toarh =fT 2™ =i (D) TR Faws I 2]

a3 SHififes 50a 12 (SISl e (@4l =g, TR T (H FE | G0 (@eR il o 8 G
=R B (ST 6 LA | I o7l (weR w4l 2 @1 e 3fds w2, vl (= (weR ¢weE 2 G
A TN T, O Nvd (@ [t 7o

(A)  Toram ifer g1 =i (B) formw «iffd 3w =i
(C) Toram ~ffa gt i (D) Toraw sifet I i@

T TR wekfaemma s/ 3 fof e @' @'\ gFM SFE 'arl | St a1 8 A
STREE S 6 9.0, | 9fe arafed st 2 .M. R S SR giee st 2 9.5, wEeEE s,
37eeTl ool Torgifora o ?

(A)  wHeUd Hiferdn @ Sefe (B) ERffS fommn arr et
(C) ERffS fommen e Srerret (D) HIfTa SR TS

e SATHT SThfd § HIR W@l & 31 SIS B €, S THehIv R Ufd=ee id & | T SISl &l ofarg 8 et
2, 3R TEd SISt Hi e 6 At T A TS SIS T Ih H 2 A TG S B, Sl B S hi 2 FH HH
fopan St ®, O Frfarfad & 9 9 o1 S war g ?

(A) STH(T T FAFA T2 ST | (B)  3Teh{d <1 TR Sgd B |
(C) hfa o1 afETy e ¥ (D) 2Thfa 1 ket ol 7 |

10.

10.

10.

If SATURN is coded as TZUTSM, then how will URANUS be coded by same plan ?
(A) TSZOTT (B) VQBMVR (©) VQBOUS (D) VSBOVT

T SATURN & TZUTSM 251t '8 341 27, (90T 7 7[4E URANUS T (SIS F'C 541 79 2
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

I SATURN (& TZUTSM @1 FFEHoe 31 2, OIRE @2 77l URANUS (3 SR A ge
AR ?
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT
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10. 9 SATURN f1 #e@l TZUTSM @I, 37set URANUS 1 #e@t Ars Srei i ?
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

10. afE SATURN @I TZUTSM & &4 # hifed foham T 8, @ S A5 & T8R URANUS &1 & sifed
[EXRISII
(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

11. In which country was Christopher Columbus born ?
(A) Spain (B) England (C) Portugal (D) TItaly

11. @ (e FPN T & (2T 2
(A) i (B) ZwTe (C)  *hgellt (D) ifer

11. (FEGTER I @ e TR T 2
(A) = (B) &S (C) coArgaNE (D) Z5ifar

11. o "BR SheTm=ng SHM el Sey -

(A) ¥ (B) < (©) Tama (D) s
11. TR Ficted &1 5 f6g <9 o gt o1 ?
(A) = (B) ¥IS (©) T (D) el

12. The average of 9 observations was 9, that of the first 5 being 10 and that of the last 5 being 8. What
was the fifth observation ?

(A) 8 (B) 7 (C) 9 (D) 10
12. GG 9 Bl IR 91G Wi 9, 2 5 5IF 41T Wi 10 W< (X1TF 25519 51T T 8 | 2% 249 W
oifes 2
(A) 8 (B) 7 (© 9 (D) 10

12. 95 *REwela o foet 9, 21945 5 591 10 €= @ 5 Ba8 | si%ew “=@wa Fi fwst 2
(A) 8 (B) 7 C) 9 (D) 10

12. 9 9 THEARGRM T 9 : Faifad 5F 5 1 7T 10 AR A 5F 5 T 81 &' T A o9 ?
(A) 8 (B) 7 C 9 (D) 10

12. 9 SYecAIehAl o1 3TEd 9 o1, U&ed 5 1 3T 10 o1 3R AfqH 5 1 3T 9d 8 A1 Ti=rell STeleiieh o= o ?
(A) 8 (B) 7 ) 9 (D) 10
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14242 +33

13. Find the value of 1+

2+4+6/3+42°
1 1 3
(&) o2 B = © 5 (D) %
1+24J2 4343
13. W—JFMEWW%W|
1 1 3
(A) ¢/ B = © 5 (D) g
1+24J2 4343
13. W—eraamﬁcﬁrw|
1 1 3
(A) § 7 B = © 5 (D) g
1+242 +3f
13. 1+ t el 7 7 fagd
1 1 3
(A) ¢/ B = © 5 (D) g
1422 +343 .
13. 1+ 2-|—6\/_—+4h/_ T A 14 Y
1 1 3
(A) ¢/ ® © 5 (D) g

14. Which of the following is incorrect in regards of the ICC Men’s ODI Cricket World Cup ?
(A) India has won the Cup twice.
(B) Australia has won the maximum number of times.
(C) England won the Cup in the first tournament.
(D) Bangladesh has never won the Cup.

14. 3B o= iT=E Rrwiol fFs il Ffaie @G e aug
(A) SIRCS 9B F7l TN GG IR |

(B) SIEFmiE AR a1 TRee SRz

(C) AL FACITS e A2 Flol Terre Fffee |

(D) AN GBI (oS TS Y B |

)
)
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14. 7A@ NPT SfewiE fEt et sifFe i @i o2ft weg 2
(A) OIS @E G2 9l ferecz|

(B) SICERml W A7 fecerz |

Q) e AR afecifern farerz)

(

)
D) IEITH IS SIS F |

14. FEMRRM ICC ODI fhehef Jgri FIT T TR g o fagfer o =T ?
(A) ARG HIE B @ FEH |

(B) sr&feren a1 safRgs «ifed @ S@E |

(C) fifafem TAfA=ra Soi1 S@RI |

(D)  SCITSEN AISTSTS STEH! S |

14. TR, q%9 UF foodia siadwa fhehe fava &9 o ge # fefafed § § SH-41 e § 2
(A) 9RA A S IR FHY AT S |

(B) il 4 FoY ST SR S qIee i g |

(C) Y& TAMHE § ieie 3 Ky Sfiar o |

(D) TR 7 et FY T S T

)
)

15. Who of the following is NOT a Lawn Tennis player ?
(A) Leander Paes (B) Vijay Amritraj
(C) Mahesh Bhupathi (D) Pullela Gopichand

15. xfEe @RoRd & (g (490 721 2

(A) FRASR (o (B) few wryeare

(©) = gefe (D) =Gl (sisTiow
15.  SIHA (PG & (B (ATAG 7 2

(A) Terem o] (B) e Srywsie

(C) ¥l woifo (D) “Jterel caMfsinim
15. TRMEE SH™ g TSRE 9R o df 9 Terir 2T ?

(A) <R o9 (B) fosa sTgaT

(C) weW qu'fa (D) el e
15. frfafed & @ #F @ < faard & 82

(A) fodet T (B) oo st

(C) #aw syufd (D) eia i
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16.

16.

16.

16.

Consider the five numbers given here :

i 736 (i) 269 (iif) 958 (iv) 219 (v) 793

Arrange the digits of each number in descending order. What would be the difference between
the highest number and the lowest one ?

(A) 222 (B) 716 (C) 618 (D) 12

o 0] AT (2R 8

i 736 i) 269 (iii) 958 iv) 219 (v) 793

ASTH! FRANE TF (20! TYTAS AN 28 AR SN T T AACHFR6R e AT T 529 2
(A) 222 (B) 716 (C) 618 (D) 12

G 24ve 256 AN 7 ¢

i 736 i) 269 (i) 958 iv) 219 (v) 793
LACOIRIG FLAN SIF(P ST HIGTI | A6 HLA G2 TR LA S&y AL 2 J 2
(A) 222 (B) 716 (C) 618 (D) 12

THM HFE SHSHTRRE! SR 8

i 736 i) 269 (iii) 958 iv) 219 v) 793

AHBEe S fTaeRE! gEe-E wikad 9 | e R gefaa s fee wRefern
I ?

(A) 222 (B) 716 (C) 618 (D) 12

16. T T o= Semet W fomm
@i 736 (i) 269 (i) 958 (iv) 219 (v) 793
Y% &A1 & 31ehi ol ed hH H FATed i | ol a¢ 3R Hol SIS H -1 37 T 2
(A) 222 (B) 716 (C) o618 (D) 12

17. Identify the pair which does not follow the common pattern.

17.

17.

17.

17.

(A) 6:OXYGEN (B) 5: ARGON (€©) 7:CADMIUM (D) 8:BROMINE

TS DI SPRe Tl (I Belre 34 |

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE
@ (S AR T (S35 ) SRel FCF T OIS biers e |

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE

S SR [IARRATG T6 TR wifEr foet 9@’ ?
(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE

39 SIS ot TEAM H Sl G Y 1 I TE H ¥ |
(A) 6:0XYGEN  (B) 5:ARGON (C) 7:CADMIUM (D) 8:BROMINE
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18. Who is the Director of the movie “Village Rockstars” ?

(A) Rima Das (B) Hima Das (C) Munin Das (D) Queen Das
18. “foreTe PR’ AT @FBR 4= FoME @F 2

(A) S WP (B) femrw (©) T i (D) T WP
18. “To0aTe I35 179 BADb(ad 2IRBIET (F 2

(A) =i am (B) feati wm (©) fem (D) 2w
18. ‘‘fiyeret Theerd’’ {1 el <eAfiien 9r?

(A) o< (B) fem=m (© HfF =™ (D) F= T
18. ‘‘foors U’ fihew o s & € 2

(A) T (B) femicE (C) Hf <™ (D) %A <
19. The longest diagonal that can be found in a regular cube of side 1 cm is :

(A) 2cm (B) 2 cm (©) 3cm (D) /3 cm
19. 1 G IAWE 9T JIN G A 2[]1 o F9 0] 2

(A) 2 GAL (B) 2 .1 (C) 3 @A (D) J3 G
19. 1 @f 3k R ol fFafire g wiqee 34 =@ ¢

(A) 2 @AW (B) 2 @R () 3 @il (D) /3 @R
19. HHE 194 @ T s wrefes @ ' g

(A) 29 (B) 2 .M. (C) 39 (D) /3 4.
19. 134, e ot fafud == o @ s aren ged o fawl §

(A) 29 (B) 2 W.HI. (C) 39 (D) /3 9.
20. In which sport did Monalisa Baruah (Mehta) and Tridib Duarah represent Assam ?

(A) Badminton (B) Volleyball (C) Taekwondo (D) Table Tennis
20. (FNRE (LeTS SIfeTHl T4 (TS SRe fafua veaiE eene aifsfafag Fifeet

(A)  @ERrE (B) eTIe () TiRrFRITs! (D) 537 (G
20. IR IFEl (IR @3k TGR qRidl (i (XA SPIGR afeiaiag FEfee ¢

(A) TG (B) efere (C) SRICPRICH (D) (Bt (B
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20. THAIfCrEn S%aT (Fed) AR Ffed gormn 99 SeREaRAEE! STHH S e ?

(A) defi=ed (B)  fctaret (C) dmE Mg’ (D) dfea afr|
20. HHTfGE ST (Hean) iR fafca gam 7 forw ©a # stem w1 yfafafae foan ?
(A) St (B) dfcitairiet (C) I (D) <o |
21. For which sport was T. Ao the captain of Indian team ?
(A) Badminton (B) Hockey (C) Football (D) Volleyball
21. 5 I8 @R (4TS SRS el SR Sifeet 2
(A)  FOND B) T (C) T (D) SeTRE
21. 5. e (@R (HETR OISR TR SRS REeW 2
(A) TrEREG (B) = (© Foa (D) ofere
21. fe. TEET 96 ARIARARIE HRAM I SeARTR | ?
(A)  def=ed (B) Bl (C) Fead (D) 9 'fefea
21. e o1 fore W & fau wRdr 34 & @M 92
(A) defhe (B) @l (C) s (D) diicitsitet
22. A curved waterbody formed when a river changes its course to take a shorter path is known as :
(A) Archipelago (B) Isthmus
(C) Oxbow lake (D) Delta
22, Tl @4 §fS P2 FACE oS Tl FIRCH 9107 (@ GBI TG TeTeIaE (@ 2 ¢
(A) @ieg (B) @IEF
(C) Sy (D) I-@l
22. GG | I IR T2 ARRET T (HCB! 712 (7T O (F I S 9170 =7 I TG 5
(A) @G (B) Qe
(C) oz (D) F-&
22, SHM A M1 AR A SeeArTE SHSEE dRel arafe qewiEl qasrie I |
(A) feu g e (B) B Y
(C) T Y feretr (D) «-feu
22, S hIS G BT T STIAM o TAC 3101 A1 Seerdt & @l o aTel SHTEER STerifeT hl el Sl ¢ :
(A) €9 agE (B) TICTSHEAEA
(C) g (D) ST
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23. Near which place, a statue of Jongal Balahu has been erected ?
(A) Raha (B) Dibrugarh (C) Dhuburi (D) Karimganj

23. (SIEE FoTed AfSYRE (I BT TS Fo T4 (20T ?

(A) = (B) fesre © & (D) <l
23, (GelE IeTed S (I IR 6 Biol 1 20 ?

A) | (B) fessio C) e (D) <fEelg
23. SSTA 9 g TIETE! F&1 HEAR Se) 2

A) T (B) fegre (C) i (D) T
23. SIS dg 1 g ford T & Fehe Tofia i 18 72

A) = (B) fegme ©) b (D) RIS

24. Which type of Democracy is presently being practised in India ?
(A) Direct Democracy (B) Representative Democracy

(C) Social Democracy (D) Totalitarian Democracy

24, JON ClNw® (TR 5170 2bfere ?

(A) =TT 5l (B) dfofagsers sierox

(C) IS olrog (D) SRR 9org
24, JSIAN ORCS (FIN LR 910F ABfeTe 2

(A) =TT 5l (B) dfoHfagsers siero

(C) IS olrog (D) SRR 9ereg
24, STFRETTE YRAE A G gEg @t T3 JH ] ?

(A) orSil et (B) o< et

(C) THSIR gg@t-=t (D) 9 TSR gean-o
24, YRA H odAE H {9 YR HT TS gEferd § 2

(A) T R (B) Wty el

(C) HmHISIh dlhd (D) SAfYARhaTRl TR
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25.

25.

25.

25.

25.

Three numbers A, B and C are such that the HCF of A and B is same as the HCF of B and C. If the
LCM of A and B is three times the LCM of B and C, then the ratio C : A is :

(A 1:9 (B) 3:1 < 9:1 (D) 1:3

TSB! 7122 A, B ®I< C GWE SN2 TS A i< B T 5911 B 1< C I SR A0S A | I A 919 B
AN B IR C F oS fof @ 27 (o8 C: A T ¢

(A 1:9 (B) 3:1 < 9:1 (D) 1:3

o 1401 A, B @32 C @59 (@ A @38 B @3 9071%, B @3k C &7 P71 371 | T A @32 B @3 #P11@ B @]
C 93 #7129 foTes 20 O Sie C: A ([ 3

(A 1:9 (B) 3:1 < 9:1 (D) 1:3

A, B, C sTfsmmn si@mafe 51 A 3T B 7 .3md o B &R C 1 aman S guH 1 9fc A 3R B 4
ILHEL A B AR C 1 g 314 1 esmermem, stee C R A 1 e

(A 1:9 (B) 3:1 < 9:1 (D) 1:3

dH F=A1T A, B 3R C UEt € o A 3R B <1 He0q GH9edes, B 311 C ol Hedq GHYeds & G9H &1 Ife
A 3R B o1 oT[@9 GAME, B 3R C & oIo[@™ GHME HIdH AT, O STId C: A © :

(A 1:9 (B) 3:1 < 9:1 (D) 1:3

26.

26.

26.

26.

26.

Identify the sport related to (Major) Dhyan Chand.
(A) Football (B) Wrestling (C) Boxing (D) Hockey

(TSR WBIWR A0S Tow (AR N Heife 55 |
(A) FoI (B) = C) IRg= (D) =T

[ e e

(TTerd) bl 71 e (et Bt wm |

(A) T (B) & ©C) IoI= (D) =

(AR SAM==<gl o ST H] 1M 2

(A) Fead (B) WHAIH (C) dram™ (D) T

(FSR) &AM=ic 9 Hafed Tl sl g9 |
(A) Fedid (B) (C) HIHaSIt (D) el
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27. Name the Mughal emperor whose army was defeated at the Battle of Saraighat.
(A) Aurangzeb (B) Shah Jahan (C) Babur (D) Humayun

27. Q2903 TR AN 399 Tl (ol AHGSH (T 2

(A) SRER (B) vz (C) IR (D) =Y
27.  *RIZACEA JCw @ N9 AFIG 2RifEre 2T ©F w5 @ |
(A) @SR (B) *IzH Q) IR (D) Y

27. HUEHRH TERAE HelASHE o F9el JREH ?
(A) (B) e e (©) = (D) &

27. 39 YA FUE H1 AM FAET bt S IREHE 6 45 H TR T off 2
(A)  SESE (B) VeSTel (C) MR (D) &H

28. Which of the following countries does not exist presently ?
(A) Switzerland (B) Czechoslovakia (C) Germany (D) Poland

28. FIRFRS @ oM I8 TR ey i 2
(A) pREINCETS (B) GFwiltedT  (C) @it (D)  (olteTes

28. SIBA (@ oifoa T8 fHg 13 2
(A) IEERETe (B) GwdicHrelfd  (C) @i (D) (oS

28. TR 99 Ieq MforehTae fifern ?
(A) HEERATS (B) w&'w@ifRa  (C) MM (D) Tee

28. TreAfafEd # 9 SiH-91 <9 adqH # 21 | 78 © ?
(A) fazsee (B) <rdEnRAl  (C) SHA (D) drRie

<

29. Which of the following is an example of Indirect Tax of India ?
(A) Gift Tax (B) Income Tax
(C) Goods and Services Tax (D) Capital Gains Tax

29. =R @FG Ses 2I@rF 399 O@F TUIEIe ?
(A) TRRFF (B) SRS
(C) AN SR Rl 9 (D) FI ] 9
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29. T (WD SRS AT TR SHIA ?
(A) ToRAFE (B) SR
(C) =€ CRIF (D) ERAI ET© 9

29. TR Feran YRA Wi @rein ferfemfer ?
(A) SH @S (B) 3™ WSl
(C) TA IR HEAHA @TSiAl (D)  Yfat AR TSI

29. frefafEd § ¥ -9 YR % 3TYcH8] L T IR0 ¢ ?
(A) TR * (B) AT
(C) %] Td qal (D) USIT &1

30. At a class test for 50 students, the average score was found to be 45.5 out of 100. Upon checking,
it was found that an incorrect data-entry had occurred where 85 was incorrectly entered as 58.
What should be the correct class average ?
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

30. 50 T PRI @O (AT 2 THR 100 THIE [SOTS AN 57T THI (R 45.5 | SIS (7Ll 9F (T €5 92y
TEGES 85 IS TAF 58 I TH TGS T4 (22| (HTIH 2l 7599 Wi MG e (2 Tfoe 2
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

30. @I (=TT AT 50 T FERFIR oG AR (FR) 100 9= T 45.5 217 T | ST ¢l - @
G5 BT SR T TCHCE, (@ 85 TeTOId 58 R 2t TG AR (T A 91T o zeq
T 2
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

30. ¥ 50 FEETHRM A&l TG HFAE TS T5&0 100 374 45.5 | AR HHamie @i Se-mae
TRifrerd 85 Wit 58 feRAT SRl | ARSI oI T3 1 |1 ST 2
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

30. 50 DT % Teh hafl TU&0 H hell 1 3fd @hR 100 § § 45.5 9491 T4 S 6 T, I8 9141 741 fo Th

T ST g8 o, W&l 85 i Terdl ¥ 58 % T H ol fohdT T AT Wl heTl ST 1 BT ey ?
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40
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31.

31.

31.

31.

31.

Which country did the martial art Taekwondo originate in ?
(A) Thailand (B) China (C) Korea (D) Vietnam

BRI IS NS B GeAE (FiI (e (2T ?
(A)  2lECETe (B) M ) iRzl (D) oM

AN OCHACHIF BeoAfE (e orest 2
(A) 2lZEe (B) ©M Q) il (D) foea™

TERMEIR ST AEaaS o7 976 TeUe SEGIH ?
(A) e (B) =M (C) i (D) ™

ISl ATHeh FHehell i 3cafd ford <o H g2 ?

(A) oS (B) = (C) wifEn (D) foaa™

32.

32.

32.

32.

32.

A political and legal process by which a legislative body or other legally constituted tribunal initiates
charges against a public official for misconduct is termed as :

(A) Impeachment (B) Re-election
(C) Enforcement (D) Enactment

I R ¢! ST B TSIE ifFe e (FIe SR (@i e KR o SivLes em
[ TR G AN e SN2 2AfFMF @It = ¢

(A)  SIfSTEE (B)  7iHe

(C) IR (D) &

G T ¢ wiFfA el T @il b SR FE < Sie SN2 oI raIfErael SPmbCei
Tl A TN FAFO [0 29I A7 9F T OIF A0 ¢

(A) S (B)  ofetef<iine

(C) o= (D) SIE IR

TSTET-2r STRI SR forent-or St dr SR iR SEm 6 g s T SHl SRR
TSI S SRE’ a1 St TG SATeie AeHRE! |1 g1 ?

(A) TS 3] (B) HE@’

(©) <R ErerE (D) STEHIR TremH1a

Teh TSHfaeh SR S 9t e 510 T faumht e o1 o1 st €9 9 Tfed =t fondt
restfer AT % Taeh HEER & T STY & o3l §, 98 Fean! §

(A) wRIHEm (B) YA

(C) YadA (D) sifufem
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33. Ifcosb= %, then the value of sin6 is :

5 12 12 13
13 12

33. W cosh= %, (ST sinb 9 Wi« 8

5 12 12 13
13

5
33. ﬂﬁ‘rcosO:E@,Wsineu‘KW?Xﬁz

5 12 12 13
13 12

5
33. Tg’ﬁq’cosﬁ=§,31®_vﬂsmeﬁﬂﬂ'[:

5 12 12 13
A 5 ®) © 3 ) 1,

33. dfccosh= %,?ﬁ sin@ <hT A :

A 15 ® © 15 ®) 1

34. The remainder when —46 is divided by 3 is :

@A) -2 B) -1 © 1 (D) 2
34. —46F 3 ([ T FECE AW ST CZE 2
A) -2 B) -1 © 1 (D) 2

34, —46 (3 3 B ©% FACET SAMS A ¢

A) -2 B -1 © 1 (D) 2
34. —46 T 3 S TsAT AT TGS ¢
A) -2 B -1 © 1 (D) 2

34. W& —46 % 3 ¥ faufsa feran S &, @1 99w © ¢
A) -2 B -1 © 1 (D) 2
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35. Which of the following is NOT a non-metallic mineral ?
(A) Silica (B) Limestone (C) Bauxite (D) Dolomite
35. RS @R S-ded Wb e 727 2
(A) B (B) pefre (C) I (D) TG
35. A (@AD S-4req 4fe 77 2
(A) Piferml (B) gelisfied (C) I (D) TN
35. TREE T HIgAtS @i 9Hg TET 2
(A) Tafeem (B) g1 TR (C) wRdTE (D) TA'AEe
35. frfafEd § 9§ &H-91 T st TS T8 © 2
(A) faferem (B) AT-TeeR (C) dliedTze (D) SR
36. What should correctly replace @ in the grid ?
13 | 450 | 30
21 @ 8
32 | 782 23
(A) 196 (B) 184 (C) 214 (D) 658
36. fawe 95l @ fozeh! ez afezion S 2
13 450 30
21 @ 8
32 782 23
(A) 196 (B) 184 (C) 214 (D) 658
36. SR @ I (G AdFeiE dfegife 2@ ¢
13 450 30
21 @ 8
32 782 23
(A) 196 (B) 184 (C) 214 (D) 658
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36. @B HSI AN Wgl 8 ?
13 | 450 | 30
21 @ 8
32 | 782 | 23
(A) 196 (B) 184 (C) 214 (D) 658
36. e @ =l W&l qlieh | o1 sigerl ey ?
13 | 450 | 30
21 @ 8
32 | 782 | 23
(A) 196 (B) 184 C) 214 (D) 658
37. Which of the following is a stringed musical instrument of Assam ?
(A) Dogor (B) Xutuli (C©) Kaaliya (D) Tokari
37. RS (@G (202 TR @F O RTe AWTg ?
(A) "R (B) gl (C) iferat (D) (OIS
37. WI6A (PG SPGR G0 SFYE AMTE ?
(A) R (B) =gfe (C) feran (D)  CBIwIsT
37. TN ST SHMH T8 AR S ?
(A) <M (B) Edf@ (C) e (D) TR
37. Trefafed § @ 9 91 3/ #1 U dRIF Tiid AR € ?
(A) TR (B) el (C) hifern (D) ErRl
38. Which of the following is an Assamese jewellery item worn in the ears ?
(A) Golpata (B) Horinsokua (C) Jonbiri (D) Thuriya
38. MRS (FINCET (202 TS oIl G PRI SiZell ¢
(A) ool (B) FRewF © comRR (D) <Rl
38. IR (PIAG G5 SPTIRI SEIEI A e A 2 ¢
(A) oteel (B) ez ©) caRfRR (D)
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38. TR 6 STHHAT ARG QTS THI 2

(A) Terd (B) FEgan (C) Hf&R (D) 9gfen
38. TreAfafEd # 9 HF-91 M § TE1 S ATel STHEET STYE § 2

(A) TeTaar (B) =RTEgen (©) Smferd (D) e
39. Which of the following is an award exclusively for music industry ?

(A) The Oscars (B) Emmy Awards (C) GoldenGlobe (D) Grammy Awards
39. fRfEfe @G A4S TR GF g b1 2

(A) IR (B) «fil «ardy (C) It Ak (D) (¥ @qioy
39. I (NI RIS Mo rs ReR @0 FFF- 2

(A) SER (B) @ 7= (C) (N (2l (D) el s7=iE
39. TR oo SR SHAE - AfHASI HH S ?

(A) IT=RRE (B) Ty warew (C) TS T (D) UfH warew
39. frfafead § @ SH-91 TR a9 &9 | Fiild e & fag €2

(A) et (B) THI TR (C) e TaE (D) T+ GTEHR
40. Toyota has its headquarters in :

(A) China (B) South Korea (C) Singapore (D) Japan
40. TS TIHR ¥y T wR_IZS ¢

(A) B (B) wre (IR (C) Torafiz= (D) o
40.  COICAIDIN v W ACACZ 3

(A) (B) wre (iRl (C) PrEsm (D) o
40. Z'I'AIA TEE HEGW 9 5@ ?

(A) =M (B) w@ren i (C) TEmgR (D) SUH
40. 3T S GO SRl T ©

(A) = (B)  afaqur shifan (C) fHmgR (D) ST9H
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41. Apart from Jaipur, which was the home ground of Rajasthan Royals during IPL 2023 ?
(A) Guwahati (B) Dharamshala (C) Bhubaneshwar (D)
41. PR 2023 F MRS IGZIN TR A1 (FFILAT TR9FS AR0T S (Flev<e Sfes 2
(A) RRIRL (B) 4<lel (C) ™S (D)
41. TR RO (@0 SZfPE 2023 G AT ASFI TG TR W e 2
(A) el (B) &f=iietl (C) T (D)
41. SERE ST, 2023 AR IPL 1 wwre T Ioeaf faemn sgmE 2
(A) TERE (B)  ELHEITCA (C) HaATa (D) 9IS
41. STEUTA 2023 F IRA, STIQ & TN TSEAH AT T 5] HH HIF-91 o1 ?
(A) TEEE (B) I (C) YeveR (D) urSit
42. Kalbelia is a folk dance form of which region of India ?
(A) Kumaon region (B) Chota Nagpur region
(C) Konkan region (D) Thar desert region
42. JRTACR SO (I LT (ST i 2
(A) T S (B) (RIGINII7F Sgea
(C) (I T=ee (D) 2 =gl s
42. IR ST (T SLETH GF0 @) ?
(A) T S (B)  (RIT lals S1eeT
(C) TF S (D) <= SRPGf s
42, FHASTAAE YRAM o SEC Ge FEm=E ?
(A) FHRA FEA (B) Bl AN A-HI
(C) hepd SE (D) R STl BT SAE
42, FHANTAA YRA & T & H1 SAhTe 1 el § 2
(A) T & (B) BIeT AT &
(C) ik & (D) ¥R Y™ &3
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43.

43.

43.

43.

43.

If P, represents the product of the natural numbers from 1 to n, then P;+P,+P;+P, is:
(A) 23 (B) 33 (© 37 (D) 31

W 15 791 n (51 O FRAIERE TS A P, (& 51 F(F, (9CF P + P, + Py +P, T e 2
(A) 23 (B) 33 (C) 37 (D) 31

M 1 (ACF n 7T FelF ALielr wezre P, @[l e 1 & @ P, +P,+P,+P, TA ¢
(A) 23 (B) 33 (C) 37 (D) 31

Sife P, S fafem s=fsmn 1 fshm n faf Sesisré! e, $tse Py + P, + Py + P, 1
(A) 23 (B) 33 (C) 37 (D) 31

A P, 1 n T I Whiqh TS I [OHA HI M 8, T P, +Py+ Py + P, il TAH &
(A) 23 (B) 33 (C) 37 (D) 31

44.

Which word would you replace for the underlined word to reverse the meaning of the
sentence ?

“Food in this hotel is worse than that provided at our hostel.”

(A) good (B) Dbetter (C) Dest (D) excellent

45.

45.

45.

45.

45.

Which of the following places does not host IPL matches ?

(A) Mumbai (B) Dharamshala (C) Patna (D) Hyderabad
fTsfeie @G e IPL (S3f#H9s) THE SHPe 721 2

(A) 12 (B) &<smiiel (C) =IiG=n (D) TRMIRM
TR I AT IPL (I3 )47 (4ol SRjfre =1 1 2

(A) IR (B)  «slel (C) A (D) ZTERM

M o ST [PL (STENNe) 4 Seres-mn S ?
(A) TR (B)  EREI (©) wem (D) TEEER

frafafaa § 9 sE-91 T IPL (3TEYINd) T il AT -T81 ohidl © 2
(A) TeE (B)  erefumen (C) T (D) TER
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46.

46.

46.

46.

46.

Which of the following statements is correct ?

(A) Sikkim shares border with Assam.

(B) Sikkim lies towards the west of Assam.

(C) Assam shares borders with Sikkim and Meghalaya.
(D)

D) Bangladesh and Sikkim touch the borders of Assam.

fxferie @R Ofe wg 2

(A)  Tofesm Tl SR Gice =i 31 |

(B) ol =pTm #If¥ew e SR%e |

(C)  SPTR AR fofes oI el s = 3 |
(D) Q<ENT oI R ST STl o T3 |

Tieoa (i Kol wm 2

(A)  FIRES SRR FTNIER A |

(B) PTG “foaifucss Bifes eRfEs |

(C) FIfF G GIREER 05 SPICR A 2|
(D) e 32 P SR ST 33z |

e o« fogfern o ?

(A) Tafera sTams 5w Tsar |

(B) fafosrmn stemf SR fieta! |

(C) st fafaert 3T Heerasl FHHThR TSl |
(D) arares 3T fafern st fammeRe el |

frfefed weri # 4 &9 @& T2

(A) Tafgra =t dmn o9 ¥ o §

(B) fafern st % ufvem § feom 71

(C) 315 i T fafern iR Femer ¥ ot T
(D) =Ry iR fafsrn & HH s/Em F T §)
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47. A cone has a base radius of 4 cm and height of 9 cm. The volume of the cone is :
(A) 36w cm? (B) 48w cm® (C) 13w cm? (D) 24w cm®

47. G5! %P T TPG 4 (6.1, <2 20T TH©! 9 (5.1, | *IFCHIT e (202 ¢
(A) 36w G.f3 (B) 48w v.f3 (C) 13w .3 (D) 247 5.f3

47. & *FF SRR 4 G, @32 Tel 9 @A | *=gioa SiTes == ¢
(A) 36w L3 (B) 48w (ifu3 (C) 13w i3 (D) 24w 3

47. 9 e TEER 9w 4 9.0, o Stergan 9 9., | 9 Serg IS s ?
(A) 36w H.f3 (B) 48w W.fa3 (C) 13w 9.3 (D) 247 9.fH3

47. T ViF & TUR I 5o 4 A, IR S 9 AL §1 S ol A © ¢
(A) 36w H.H3 (B) 48w W.HI.3 (C) 13w q.#H.3 (D) 247 H.H3

48. If sinf =cos6 then the value of 1+ tan® is :

(A) 1 (B) 2 © 0 (D) 2
48. M sinf =cosh, (STF 1+ tand I I+

(A) 1 (B) 2 © 0 D) 2
48. W sin®=cosh T O 1 + tanf €3 I ¢

(A) 1 (B) 2 © 0 D) 2
48. Jf< sinb=cosd e 1+ tand 1AM

(A) 1 (B) 2 © 0 (D) 2
48. ?Tﬁ{sinﬂ=cosﬁ, W 1+tand FHHAA T :

(A) 1 (B) 2 © o (D) V2

49. The least natural number which when divided by 2 gives remainder 1, when divided by 3 gives
remainder 2 and when divided by 4 gives remainder 3, is :

(A) 23 (B) 17 (©) 31 (D) 11

49. 2 (I 219 IR 1 ST 27 #1]1, 3 (F 79 FIRCE ST 2 2417 2190 e 4 (F 2790 FREA 10T 3 1K #141
TR [Tox FeIs ARG (2 ¢
(A) 23 (B) 17 (C) 31 (D) 11
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49. SR FrelRs 7 ACE 2 FE1 Ol FHCeT SRRE 1 A, 3 [ ©l9l FhCE SRR 2 ACF G2 4 7 ol
FACE SRE 3 ANF (A6 T ¢

(A) 23 (B) 17 (C) 31 (D) 11

49. e Tafdm s S 2 S TFee 1 Tl a9, 3 i e 2 IEal a9l 3T 4 Si el 3
TAGT o=, o SHSHE S

(A) 23 (B) 17 (C) 31 (D) 11

49. T8 <AqH Uhide Se f99 2 9 fawifsd & W 9w 1, 3 9 fafsm e o 3vwa 2 31 4 9 fawifsa
H T ATES 3 I A1, TR

(A) 23 (B) 17 (C) 31 (D) 11

50. As per the diagram, which zone represents married nurse who should be sent for training ?

Nurses in
Hospital
2

1

417\ 5\
6 3
Martied Trained Nurses
Population
A) 2 (B) 4 < 3 (D) 7

50. 2va ag (@R SikH 2l i cifSkee Rafze oo afefifag s

iremre T
AfmifR!
2
b/ 7\ 5\
y 3
WWW@W@ aiie 7Ifeil
(A) 2 (B) 4 < 3 (D) 7
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50. &We b SEPIE (@ SR e oo Aol She [[ifze apfom afsfRfag @ 2

FATSICET A
2
b/ 7\ 5\
6 3
[SRIPCEERRIR oS 5
(A) 2 (B) 4 © 3 (D) 7

50. QAR Td, I8 WsT BRIUE Al SHe THwRE! fefemt ?

AR LI
FEHBR
2
Y/ 7\ 5\
6 3
2 IO HH
. TEHBR
(A) 2 (B) 4 <© 3 (D) 7

50. o3 T oTR@ % STER, S 91 & faarfed 7 =i <wiar ¥ 59 wfineror & fa dsm s =nfew 2

HEATA
Gt
2
b/ 7\ 5\
6 3
[ et
(A) 2 (B) 4 <© 3 (D) 7
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51. Which of the following countries is the farthest from Andaman and Nicobar Islands ?
(A) Myanmar (B) Indonesia (C) Vietnam (D) Malaysia

51. SIS SR HFRE Bl9i9g o[ (@ (ita 1ag SRS 2
(A) IR (B) Breiwfe ) fowabam (D) SieTfez

51.  I6A (@A (I SIS @ TTRE B117)g (A0S AR IR 2
(A) ORI (B)  ErwICarl ) forrem (D)  STreTCR

51. &9 BRU MM W e IR fAahRiwE SHfeme 2
(A) IFHR (B) I='Afgan (C) TrEam (D) HIAEREA

51. frafafed § § #9-91 30 sieud iR fheR 519 99 9 9a8 W72
(A) THER (B) SSHf¥EN (C) o™ (D) HeIf¥m

52. Yesterday just after sunrise Rajiv met Samir and was talking, when Rajiv noticed that Samir’s
shadow was seen towards the right of Rajiv. Which direction was Samir facing ?
(A) South (B) East (C) West (D) North

52. QR i 3% fFiere IGNE RS @9t 21 S 2ifs AITe ISR 7% FRET (@ A9 Q6!
IERE (RIS FIE 0| FTANE @I e 4 FF =NifesT 2
(A) mfEE (B) = (C) fow (D) Tes

52. 9IS IR o172 AR AR A (il (R A I, ©4 AG 75 61 (@ INEE 2 MG R
T C (el o= | AN (i e 34 R e 2
(A) Wil B) & (C) =If¥ow (D) =

52. T 9A STERA™ 3@ UfSen i@l @il 891 AR T aFEE afsen ge i st ares
e SR rerel | | sty Hral SR ?
(A) e (B) HrSIY (C) HHmEfy (D) HrIY

52. ol YAGA & 3 1% i FHR 9 e oiR 9| a ) 9, a4t Teia 7 <@ foh 96 6 WeE TShd &

et IR fomr § @ ot | 9 o g fona e o en?
(A) <faqo (B) & (C) ufv=m (D) W
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53.

53.

53.

53.

53.

Who amongst the following has been awarded the Gyanpith Award in 2024 ?

(A) Gulzar (B) Arup Kumar Dutta (C) Ratan Thiyem (D) Nilamani Phukan

SRR (@ S_FIF 2024 IX© T@NATS 6 AW 791 20T 2
(A) TSR (B) SEAFAITE () Foo N (D) <eTIfe e

o

AR SRR M (F 2024 A B FFHE SRS R0 2
(A) ST (B) SRAFIIWE  (C) e RN (D) TwTsIf

2024 AR IS TFE! TR AT B Se) 2
(A) TSR (B) &Y FARTT (C) T faam (D) T\l gera

o o

frefafed # @ fFd 2024 % IS TR F THATa e T 7 2

(A) TSR (B) &Y FAR A (C) A faam (D) fremfor Fera

54.

54.

54.

54.

54.

In Assamese literature, who is known as the “Dhwani Kabi” ?
(A) Binanda Chandra Barua (B) Ananda Chandra Agarwalla
(C) Mahendranath Deka Phukan (D) Mafijuddin Ahmed Hazarika

SPIRN AfRere (@ “@iN TR Fol TS 2
(A) a7 vw I9< (B) Il b sl
(C) SR (I (D) wIRrgfwe NRem FS

(A) a7 o =2 (B) Il b SRSl
(C) 2T (T T (D) Sifrereine S2rsm S

ST gAesa, 9R ¢ et wfa’ gei fafesmn 2
(A) o< =g s%d (B) AN == ANTLETA
(C) TSN H Fohd (D) wftFsEiE g &t 'R

srafaen aifecr # “ eaft e’ & W @ fHE ST S €2
(A) forg =g swen (B) 3TMg =g STRETEN
(C) TRETYT SH Fehd (D) WFSE 3TeHS BTG
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55. From the Constitution of which country, the concept of residual powers in the Constitution of

India has been borrowed ?

(A) Belgium (B) Canada (C) France (D) Switzerland
55. SO FRRLITE SRS FAGE 40l (FALH (P 7S] TR (R 2

(A) @I (B) JMICI C) T (D) pEEINCETe
55. ©RCed AFUI SRFE For 4ielf (i (oo AR (A0 i 0 AR 2

(A) e (B) Gl © T (D) REIEIIE
55. e TRi HHeiie@l YAt feforere W1 s gIex fetere T o e S 2

(A) SefsE™ (B) hMIeT (C) wrd (D) YESIReivS
55. 9Rd % HiGHM H AT i w1 SR fhE 3% % deem & o W= g2

(A)  ifesEH (B) TSIl (C) g (D) fEEsReie
56. Who amongst the following has not won the Jnanpith Award ?

(A) Birendranath Dutta (B) Nilamani Phukan

(C) Hiren Bhattacharyya (D) Mamoni Roisom Goswami
56. RIS (iR SRIFICT STl 51 sre 5l 7R ?

(A) ™I Te (B) lesIe e

(C) BT SEIHRG (D) S =R CsirErn
56. 0% TERGTR M (F @A STHE 7S FCE 2

(A) TEEIL T (B) TRl T

(C) 2 eHR (D) SIS FT iR
56. TEMEE S TR A FHMUS Sl WA ?

(A) forsTe s (B) Tra'af gerd

(C) T& srier (D) A T T
56. Trefafed § 9 frem IMde QWRR A& ST € 2

(A) Ty < (B) remfor Fehd

(C) T we=md (D) T o Treart
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57. 72 toffees were distributed to some boys in a group. Each boy in the group got twice as many of
the toffees as the number of boys. The number of boys in the group is :
(A) 6 (B) 7 © 8 (D) 9

57. &bl woTo APl (PRSI o7’ S 72 FRAF Gfzr [oqe] o<1 2 | 7o 2ifoe o719 ©Io® #(11 5 A<l
VTS 2l 3[J TR AT TLOF T | WEACHIe 2P 37T I AN (2R 8
(A) 6 (B) 7 © 8 (D) 9

57. 7210 O qweT (Reetors e fresel 1 = | oo i (=et, MieeT QAR (RGO TR el BfF o | wew
CRCETCTS 1R 257 ¢
(A) 6 B) 7 © 8 D) 9

57. HAY MY BRI S 72 A TR SR | SRS T ST gIETe 4 1 SR S e aftn
AR | o BT Ho¥ 9 'BR S ?
(A) 6 B) 7 © 8 D) 9

57. U GHE H §B AHl il 72 ARl fodafia & 78| 908 H Y% gh hl ASh! Sl G& ¥ T[T war
fefl | &g | oIl ol Hem ¥
(A) 6 (B) 7 © 8 (D) 9

58. Which Assamese movie is based on Bhabendra Nath Saikia’s novel, Ontorip ?
(A) Pratidhwani (B) Krishnachura
(C) Barua'r Xonxaar (D) Agnisnan

58. ORI BRI TP )77 FAI TS (e ST @l ffie (g 2
(A)  efswmE (B) JHCI (C) =T AAR (D) e

58. (W SPINAI GRbba b O w12 *EFRNT @7 G SRETHE WK 2
(A)  ddfewE (B) JGCI (C) = AR (D) e

58. TN o6l STHHAT ALY Yo=Y Fefchal ™ §el |1 SR g/~ |rame foen e ?
(A) et (B) FHWHEl (C) &eT HER (D) AFTEH

58. hA-HI sTafE fhew woig Mo Aferan ST ST R SR § 2

(A) faeafq (B) FHOEEl (C) B3R HER (D) &M
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59. Which is the odd one out of the list ?

(A) Chapters (B) Preface (€) Index (D) Book
59. s OifeTpre (P! e 2

(A) SR (B) IRl Q) ! (D) Feivl
59. Sifersla (@G s i Ko 2

(A) SROR (B) I= ©) e (D) <’
59. TR Geeral AEfiRe fogT -

(A) @ (B) g HRA™ (C) @l Wit (D) Tt
59. G H YDA AN ?

(A) ™ (B) WS (C) rgshufureht (D) =&
60. Which Hindi poet is known for “Madhushala” and “Agneepath” ?

(A) Ramdhari Singh Dinkar (B) Haribansh Rai Bachchan

(C) Sumitranandan Pant (D) Maithili Sharan Gupt
60. (IR 2 IR TP iR “SfoF” AR TGS ?

(A) IR PR e (B) 2<% 06w

(C) ARG (D) CaIfeeT! 5ol &g
60. (9 B IR “Tet” @R “SAfaoeR” T 2 2

(A) T PR e (B) 2fF=I AR IH

(C) ARG g (D) 2Tt * e @
60. OR fe<t Tremsfifan ' wepnen’’ o ¢ sifiuaf’ e fafosmn ?

(A) THYIR T8 feTem (B) ®Re® g I=H

(C) gt T4 9 (D) Hforelt TR T
60. wA-H1 & wfa Aywmen’’ &R ¢ ifiuy’’ & fore S ST 7 2

(A) YR THE foTe (B) ®RE® 1T o=
(C) Yftarcd ud (D) Hforelt TR T
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2
16% ofw is :

61.
16 X 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
61. (16 +16)" o150 73w 3
16 X 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
61. (16 +16)° az 6o 25
16 X 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
61. (16+16)° £ 160w g -
16 X 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
61. (16+16)° oo qrm s -
16 X 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
62. Which of the following colours is NOT seen on the Olympic flag ?
(A) Green (B) Yellow (C) Orange (D) Black
62. SIRT™IT AOFITS MREIRS FNCEI I96 (i AT 2
(A) s (B) ==& Q) qwfemEl (D) &
62. IO (A [T SfeT i srorpa el T AL 2
(A) & (B) = (©) el (D) ICe
62. ifaftues frfremme oo e = ?
(A) e (B) TIHITE (GEEZCIRIE] (D) G e
62. Trfafed § & s@-w 1 icifus s § 7@ foma 8 2
(A) & (B) dtem (C) - (D) hTeTl
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63.

63.

63.

63.

63.

Which of the following is best depicted by the diagram ?

(A) Cat, Fat, Rat (B) Food, Clothes, Friends

Assam, India, Asia (D) Geometry, Botany, Economics

oSN a o fa o

©)
ove oz Fafiiie @HGe FeTe Bige w7 2

(A) RS, *FS, G (B) 4, IE, g
(C) PH, OIS, afel (D) IfSfs, Tfewiwl, s

g 5af T (FIHEE SIESIE I FF 2

(A) i, It 2w (B) 4, 3T, 3

(C) P, T, «f* (D) oifsfs, Sfenim, SIdqifs

S e Ara grefae fefer 2

(A) HEfS, HIGHTAI, TISK (B) TSI, THME, AR

(C) 3THM, 9, ThEan (D) Ay, ol oM, et

fed ™ e frafafea § 9 = A €2

(A) focet, Hie, <@ (B) WMI, HUE, T
(C) 3T, WIRd, Tfer (D) Snfafd, sefa fagm, stefeme
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64. Who or What is Doraemon ?
(A) A river in Brazil (B) A Hollywood actor
(C) A type of aircraft (D) A cartoon character
64. (OIRT O (P 2
(A) alferR @<= Tl (B) @IRISI ZITT SerTol
(C) R 9Bl &= (D) <5t S5 5f7@
64. (I (FANH 2
(A) FifeeR 3 a1 (B) zZfetT «3 wfeel
Q) &F <A RN (D) @ 5 sfag
64. S HR TS A ?
(A) STt S (B) efagef wafefafif
(OBRUCIEER (D) WY HTEA-3T1g
64. SHH IS A FAE?
(A) SIS T T TaT (B) ek Bledlgs Afal
(C) T YehR hl o (D) T A aRA
65. Which of the following is incorrectly matched ?
(A) Class Ilever : Pliers (B) Class Il lever : Nail cutter
(C) Class III lever : Nutcracker (D) Class II lever : Bottle opener
65. =GRS (@N! Swmelta (e el (2w 2
(A) e (T Brem ¢ Amg (B) fasH (xix forei ¢ 794 S5 Tor
Q) TOR (¥ feTei ¢ M Tel T (D) faor (HT forem 2 e Al (ATl T
65. IO (T Sremelcd etz 2
(A) 2w @iz forem ¢ foufs (grapd) (B) o (i forelx ¢ 72 FoF 17
(C) TR (IR feToR ¢ wife (A6 @FE) (D) f=or (@TR foreE ¢ @ree (e I8
65. TR Sl 9N S A ?
(A) grEn 1 fife : wg (B) @11 ffa : SRR ern <y
(C) gl I fifi : fogem e s Hrame (D) er@ 11 f3fa : o wan
65. frafafed #§ & H-w ot gafed 82

(A) T [ citer : "

(C) T III EffeR : Tohahl

(B) o II oifer : el sheX
(D) & II SeR : Sl SR
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66. Identify the proper noun in the following list.

(A) High mountain (B) Black car (C) Deep sea (D) Pacific Ocean
67. The product of the roots of the quadratic equation 2x>—5x+6=0 is :

(A) 2 B) 3 © 5 (D) 6
67. @S AN 202 —5x +6=0 I I (PEBIF 761 (20 ¢

(A) 2 B) 3 ©) 5 (D) 6
67. M@Rife AT 202 —5x +6 =0 7 JTSloR @oipe] 2 ¢

(A) 2 (B) 3 © 5 (D) 6
67. 2x%—5x+6=0 SN FHFAEM VSR HSTHTHAT :

(A) 2 (B) 3 © 5 (D) 6
67. fgomd THeRTor 262 —5x+6=0 % Hail 1 [OHERS ¢ :

(A) 2 (B) 3 © 5 (D) 6
68. The Padmanabhaswami Temple is in which city ?

(A) Bengaluru (B) Chennai (€©) Madurai (D) Thiruvananthapuram
68. (I TITS 2MSHN| WV SRFS 2

(A) (AR (B) (bR (C) iR (D) fes=mEsw
68. IWAISHIN! IUF (Fi =12 TRFS 2

(A)  <TTCETI (B) (A (C) IR (D) ToFRE R
68. TRMIHREETHT A<l sfel AR € 2

(A) SeTE (B) == (C) wguE (D) faws=Iq
68. TEFTWEATH! HicT foRE e H 2

(A) SR (B) == (C) wgt (D) foweraq
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69. Which present region of India did King Lalitaditya (Muktapida) have his empire in ?
(A) Northeast India (B) Kashmir region
(C) The Kutch area (D) The Deccan region
69. IO SN (Fie TLETTS I FAeTOIWe) (JS+M) T AFST Sfee ?
(A) TeIsReRe  (B) N S (C) FoRoE (D) wifEperey Sees
69. IS SRS (P SLHTH AleH FARTOIMce (JE#ml) ATy 1 2
(A) TeR-ofeme  (B) MR Sed (C) IvZILE (D) wifEFelle) Siest
69. ST Afctalieed (Faer) T SrmEsie forare YA s« e ?
(A) H-9FST ¥Rd (B) ®RER A (C) ®°9 dMEd (D) SFRd SFEE
69. ST Afcidiiced (HERTIIE) Tl THNT YRA o fhd Idq &5 H o1 ?
(A) AR 9Rd (B) HYHR & (C) w3 & (D) TR &
70. Which State is the Dandiya Raas a popular folk dance of ?
(A) Rajasthan (B) Gujarat (C) Odisha (D) Maharashtra
70. WIS I (RIFAT T G GiE (FITe) 2
(A) EE (B) oG (C) Tl (D) w=AIE
70. ISR IR (@ AT GF0 G (@R ?
(A) e (B) &G (C) efex (D) TG
70. << T o TS g HEEE ?
(A) TS (B) TSI (©) Sfed (D) WeRT
70. Sifedn T fFa T 1 ARiyT Ak T T2
(A) TS (B) TSI (C) sifemm (D) WeRT
71. Which sport did P.T. Usha play ?
(A) Athletics (B) Badminton (C) Table Tennis (D) Cricket
71. P TAR i (2ere wienae S o
(A) QUEHER (B) (I Q) (53 (Bfr (D) fees
71. PR A (@I (3T (AT 2
(A)  SHILCETH (B) DA (C) BfR= G (D) s
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71. fu.fa. Surn w1 e ?
(A) TeRifem (B) wefimd (C) dfsw aftg (D) ToRee

71. W3 3T HE-T A G ?
(A) TIaIfesm (B) wefed (C) o | (D) fhehe

72. Grandmother was cooking at a picnic, attended by her son and daughter-in-law, with their four
sons and their wives and one son and two daughters to each of the sons. How many ladies were
there at the picnic ?
(A) 8 (B) 12 (C) 14 (D) 10

72. QORI NGRS A% NiKeT | FCSIEHTS HifiieT Wi STehRFR 2a Wik 97y, e 7w A
TS (SEENT BIfTeH %@ W% 5ifsad AfoTm@ @om s 29 o FeiE GRISI | ICSISoS 0O
Sfeat A<l i wiifee 2
(A) 8 (B) 12 (C) 14 (D) 10

72, O30 ICSICS ST A FARCE | I 9@ =R 2G4 S B (ZE1 'S O RIS 1w BT fareim @3
TSP (R G0 I (0 @R 9f0 @ (IR 57 | I0eite doe qfzel o 2
(A) 8 (B) 12 (C) 14 (D) 10

72. TS SR ST ATeRER fiar steArara faeift fraren s fogmsis arr foef a1 3t frareamsR s
ot fafedR ST |Ihme FRATaTRR fRaTe I ST fReTsT |ree el | o e Siiam S 9
oY fEsea®R 31 ?
(A) 8 (B) 12 (C) 14 (D) 10

72. < Uk fUehfeh R @ 51 W off, TS 3Rt 9121 oIR 978, % =R 9 SR St uferal iR ek T
o2 o1 T o2 AR 9 Afeal witer off | fewfen & ferat wfgemd off ?
(A) 8 (B) 12 (C) 14 (D) 10

n [BE-[E_E_,

" \729 144 81
7 20 5 11

(A — 35 B) ~ 5 © ~ 3 D) ~ 3¢

n [BE-[E_E_,

" \729 144 81
7 20 5 11

(A — 35 B) ~ 5 © ~ 3 D) ~ 3¢
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25 [25  [16
73. oo Ty T = ?
729 144 V81
7

20 5 11
(A 15 B) ~ 5 © 3 D) ~ 3
225 25 16

7 20 5 11
A — 4 B ~ % © ~ 9 D) ~ 3¢

225 25 16 _
7 20 5 11
O B) ~ 5 © 3 D) ~ 3

74. Who has won the highest number of gold medals in the Olympic Games ?
(A) Mark Spitz (B) Michael Phelps (C) Jesse Owens (D) Paavo Nurmi

74, (I SRARE (4TS AR FHRAF FTOF W 7S FER 2
(A) F e (B) Wi (T (C) (TR SER (D) #itet i

74. ST Gol dfStaiferein (& AEEE AT FMS S IR ?
(A) F Foig (B) WIFEE (@A (C) (GO S (D) =fitet

~

74. 3l FCEAEAEE TRE Fafel JifaT 919 A € ?
(A) Tk fogest (B) WEhd Heqd  (C) S IAeA (D) w9’ qfH

74. iU Gell | gaifus ol ues fHea S § 2
(A) Tk forest (B) TWIEhd oW  (C) ST e (D) el T

75. To which emperor was Chanakya the royal advisor ?
(A) Samudragupta (B) Ashoka
(C) Chandragupta Maurya (D) Skandagupta

75. DT (I SKIRT THIO] AGS T SAWMS! WNifewT 2

(A) TEed (B) SICHIS (C) vmaY G (D) FwaY
75. BIRY (@ FFIA AGI R GoAD! =w 2
(A) TEs (B) SICHII (C) tmud G (D) FWaY
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75. AT 96 YU TSTHICUR SEH BIATRH 2

(A) HHET (B) oTTH (C) == H (D) TR
75. U TR U & IR GelehR 9 ?

(A) FET (B) ST (C) = Hd (D) ThST
76. Identify the incorrect term in the series.

{5, 8, 13, 20, 31, 40, 53}

(A) 13 (B) 31 (C) 20 (D) 40
76. {5, 8,13, 20, 31, 40, 53} W& ST S| IS 5 |

(A) 13 (B) 31 (C) 20 (D) 40
76. 2ve @K el A<l e e |

{5, 8, 13, 20, 31, 40, 53}

(A) 13 (B) 31 (C) 20 (D) 40
76. TRIRAE {5, 8, 13, 20, 31, 40, 53} ™ TR~ fogmeE TPrg’ |

(A) 13 (B) 31 (C) 20 (D) 40
76. SJ@a {5, 8, 13, 20, 31, 40, 53} H et US TgHH |

(A) 13 (B) 31 (C) 20 (D) 40
77. As on 18tof January, 2024, who is the President of Ukraine ?

(A) Joe Biden (B) Vladimir Putin (C) Valerii Zaluzhn (D) Volodymyr Zelenskyy
77. 17 SRS, 2024 AT 28(Fe9 Aol @i 2

(A) o iEre (B) wIfehE 7o Q) (oER e (D) SHRTeRR (S
77. 131 QIR 2024 ACHACF 26CEER G (& oem 2

(A) (ol AEe (B) wfEsfen  (C) ol s (D) wwE sewz
77. 2024 TEAEM 1 TR @ifafadre oA gRRiRan 9REE 2

(A) S SR (B) wfeAR gfed  (C) iRk SiegsA (D) ¥'a'fefiR STt
77. 1SFad, 2024 FI Iohd & TLIA A § ?

(A) ST faea (B) wfHR gfd  (C) ot S (D) afeSR Sicieht
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78. Identify the correct mirror image of the figure.

—>

(A)

78. e foa] W wicollel AfeR=en! e 7= |

—>

(A)

78. =ve oraa woltag A Afely s e e |

(B)

>

L

—>

(A)

(B)

>

L

78. STEFAMEE R smEfe gemia ara’

—>

(A)
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78. 3Thid i TEI U0 Bf vg= |

79. Who played the title role in the 1969 version of Dr. Bezbaruah ?
(A) Nipon Goswami (B) Biju Phukan
(C) Dwipen Baruah (D) Brojen Baruah

o

79. T (RGIRA ([@BTGRA 1969 HKHITS (HIC N Siere Sz T 2
(A) Wom car=rT (B) gz
(C) ICst <=l (D) e 7=l

79. T (QGRFEAR 1969 FFAC (F AL ST #{eT IR 2
(A) o csimT (B) RgF
(C) RItsw T (D) e I

79. 1969 AU €. Se%al G WAL MR fahafmgt UR A ?

(A) o T (B) ToS Tk
(C) fgu =r%en (D) SIS a%a
79. L. SSE%3Tl % 1969 &R H ¥tk yfifent ferda 74 ?
(A)  To Tt (B) fog B
(C) fgu sreen (D) FSH =&

80. Which state is the official sponsor of Hockey team of India ?
(A) Punjab (B) Odisha (C©) Haryana (D) Uttar Pradesh

80. (I IET OO TH| WeT HIFI| FDCARTE 7
(A) #ig (B) TR (C) =i (D) TR el
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80. (I AT SRR 2 (T TIHI DA 2

(A) g (B) sfEx (C) =RI=I (D) T e
80. YA &'feh BHSIHI GREIR Heg SR Tasie o9 ?

(A) T~TE (B) fem (C) e (D) W YW
80. YR ! Bleh! ZIH o TR TSI -9 TH © ?

(A) HeE (B) shfewm (C) =i (D) W W
81. In which city is Dalal Street located ?

(A) Kolkata (B) Chennai (C) Hyderabad (D) Mumbai
81. WEA I (P TS SRFS ?

(A) TRl (B) (oW (C) TIMIRM (D) 912
81. W fB5 (I *=(F SRZS ?

(A) FETRNO (B) @Ak (©) AFEEM (D) A1
81. Sredlel T&ger =@t ?

(A) e (B) == (C) BRGNS (D) =
81. T Tre fry v H fRed €2

(A) ShICTEhTT (B) = (C) TEm (D) HeE
82. What would replace # in the sets ?

{5, 120, 3}, {9, 630, 5}, {9, 810, #}

(A) 8 (B) 7 ) 6 (D) 4
82. {5, 120, 3}, {9, 630, 5}, {9, 810, #}

RESOR # Bz ez afezism 5T ¢

(A) 8 B 7 <€ 6 (D) 4
82. e WEfouflire # Bzl TE Fi afezifere == »

{5, 120, 3}, {9, 630, 5}, {9, 810, #}

(A) 8 B 7 S 6 (D) 4
82. {5,120, 3}, {9, 630, 5}, {9, 810, #} YSXHRIS # W TS AT S ?

(A) 8 B) 7 € 6 (D) 4
82. W= {5,120, 3}, {9, 630, 5}, {9, 810, #} H # =T TAM FT T ?

(A) 8 B) 7 <€ 6 (D) 4
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83.

83.

83.

83.

83.

A person purchases x number of items at the rate of X x per item. The shop-keeper gives him a total
discount of X x after which he pays I 156. The cost per item after the discount is :

(A) %13 (B) %12 (C) %16 (D) %14

GG M T x TS x FRAF AN GF FIRCH | ARG (0€F JJ T x AT ([ 2% F99 AZS (908
% 156 201y SR | ({2 2R 2igs AfSCE! AT FEEn (202 ¢

(A) %13 (B) %12 (C) %16 (D) %14

GG GG x 7L AT T x W@ G @ | WFE OICE (N6 T 1 WS (ST 217 (7 T 156 2AF0NY 6 |
QA +7 =folb AT e 2 ¢

(A) %13 (B) %12 (C) %16 (D) %14

Y AERE x ARG HASAd T x S8 S ol | REAE oA 519 % o T @ g 3Ae fodi 3156
T O | B G 36 A qaTi o8 oF ?

(A) %13 (B) %12 (C) %16 (D) %14

T Al T x Ufd 3TESH F X H 1 3M5eH TS 81 THAER 3 FA T x i 2 a1 ¢ S8 a8 98
% 156 1 A @ &1 B & 91G U TEeH Hi AN © -

(A) %13 (B) %12 (C) %16 (D) %14

84.

84.

84.

84.

84.

Which of the following countries does the Mediterrean Sea not touch ?

(A) Spain (B) Portugal (C) Lebanon (D) France

RIS (PR (i GRIaie R 7 2

(A) iz (B) gaNa (C) AR (D) ™
TIHa @ G G o @ 2
(A) =iz (B)  (olgaie (C) AR (D) =™
TSR AR AT I IS AATST 2
(A) (B) g (S IRSEIRE (D) W

TR fefafad § 9 f/e <9 &l 78 <1 7 2
(A) = (B) (©) e (D) iE
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85.

85.

85.

85.

85.

Simplify : \/51 + 134 + 542 + V16 + O

(A) 15 (B) 12 C) 8 (D) 16

T I 8 \/51+\/134+5\/42+\%+J§

(A) 15 (B) 12 (C) 8 (D) 16

W?'Ffﬁrﬂ"é\/51+\/134+5\/42+\R+\/§

(A) 15 (B) 12 Q) 8 (D) 16
\/51+\/134+5\/42+\/E+\@ @l TR e
(A) 15 (B) 12 ) 8 (D) 16

WA F 1 514 (134 + 542 1 V16 + O
(A) 15 (B) 12 © 8 D) 16

86.

86.

86.

86.

86.

The population of a town increases at the rate of 10% every year. If the present population of the
town is 10,000, then after 3 years the population of the town would be :

(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

(I G2 9199 o1l 2l ICa 10% I 2T Jfan A1 | T T8I Sy 10,000 T 3 IR STF©
TR IJ TR T 2
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

@35 *Z@a TR 2fS T 10% AR Ifa A1 =23ba I8TE SR 7 10,000 2, ©IZE 3 IR [
=227 TR 7 ¢
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

Y AR e arEiet SR 10% 3R SRER | Sfe efemrat gg Im@rst 10,000 27sa sEr 3 1

SLIE| ®|H®|i ST 2
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

T I i SHEE & T 10% T R 9 et 81 afg I 1 FadqE SHEEAT 10,000 B, 6 3 99 91
@ B
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000
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87. Which of the following diagrams best represents Writers, Teachers and Musicians of our society ?

87. fIufiRe (@G Huz SR TR @12F, HaFs o< A5 o Fhels Arey Sl Aty sfq 2

ORI
OO0

87. =g (M foaid St IS (&1, s GaR M5 0807 FACACE SICEISIE Goglol T 2

© &
Oo

87. o HEAME i TS feRfTReR, BRIFRER R SEifiiera! qefay fefem ?

® -6
OO0
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87. Ta=fafaa § @ <M o1 fos SHR THS o oi@ehi, TeTehl 3T GifiderRl sl Tl 3T<31 Gdf-fere shidl § ?

« (OO .

88. The value of J0.09 + \/1.69 is:
(A) 1.78 (B) 1.6 (©) 1.33 (D) 1.5

88. /0.09 + /1.69 I ¢
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5

88. J0.09 + /1.69 €< M ¢
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5

88. /0.09 + 1.69 1AM :
(A) 1.78 (B) 1.6 (C) 1.33 (D) 1.5

88. 0.09 + +/1.69 FTHM :
(A) 1.78 B) 1.6 © 1.33 (D) 1.5

89. Which of the following is a part of Mahabharata ?
(A) Upanishads (B) Puranas (C) Vedas (D) Gita

89. FRfifde @G T2reiTos Gl =igH ¢
(A) Toifram (B) =t Q) @& (D) STrel

89. SI(BF (P TSRS TRA 2
(A) Toifram (B) = Q) @@ (D) Srel
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89. TR &1 HEIYRAM @il ?

(A) Ui (B) M (C) ®% (D) fima
89. frAfafad & ¥ iH-H1 HeTvRa o fewan § 2

(A) Ui (B) I (C) 3= (D) T
90. Which country are Kira and Gho the national dress of ?

(A) Nepal (B) Cambodia (C) Bhutan (D) Vietnam
90. 1 W= (A (TN ([ TSI AIG-(ARF ?

(A) @A (B) e (C) b (D) fowBam
90. TR @R (A PN (R SIS (AXNF 2

(A) oI (B) =calw (C) oo (D) fewe™
90. TR TR N1 3T 919 BRI SRR T ?

(A) U (B) wal'fea (C) 4ad (D) fiRrdm
90. T IR = forg <91 T T AR © 2

(A) U@ (B) wharredm (C) oA (D) fogam

a_4 6a+2b .

91. If b 3 then the value of 1a— b is :

(A) 3 (B) 4 © 35 (D) 6

a_4 6a + 2b .

91 M = <, (90T —— - T3 3

(A) 3 (B) 4 © 35 (D) 6
91. ﬂﬁ%=%®o Zat?;é@mﬂﬁf

(A) 3 (B) 4 <@ 5 (D) 6
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a_4
M T T T o

(A) 3 (B) 4 © 5 (D) 6

a_4 6a + 2b )

91. g =2, W — L

(A) 3 (B) 4 © 5 (D) 6
92. The addition of two binary numbers 11 and 10, when represented in binary system is :

(A) 101 (B) 110 (C) 010 (D) 111
92. @® AT 7ol AN 11 SR 10 I (9T @0 2elleTre o FRCE AlG AU ¢

(A) 101 (B) 110 (C) 010 (D) 111
92. b &S A 11 €3R 10 €7 @oreet TRl simmfore el e 203 ¢

(A) 101 (B) 110 (C) 010 (D) 111
92. HMHA SARTHMAIR AR 11 3R 10 T ST sHfTHH=IR SHfSHEmeE HRE |

(A) 101 (B) 110 (C) 010 (D) 111
92. 3 fgamert Hemst 11 3R 10 &1 M, S fgamemt yoneft # S S &, @ S e -

(A) 101 (B) 110 (C) 010 (D) 111
93. Siachen in Ladakh is an example of :

(A) Cold desert (B) Glacier (C) Plateau (D) Snow mountain
93. dTeRY I(S%HC%* (@O ¢ EW]QQ‘W ?

(A) Mesmgh  (B) fERIR (C) g (D) LIRS =S
93. wmIcas PrIfb Trigae & ¢

(A) et SEeh (B) Tz (C) Tl (D) IR S
93. e THarsl H Y 7 fofefer

(A) TgSENEHE  (B) SR QA (C) A (D) o ST
93. RN ¥ feoa faanfed o e ©

(A) e e (B) feme (C) TSR (D) WHid IaTS
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94. The three angles of a triangle are in the ratio of 1: 3 : 5. The largest angle of the triangle is :

(A) 70° (B) 90° (C) 120° (D) 100°
94. bl {qges fSfGI (IR T 1: 3 : 5 S0 B(2| (TSN J2e (F 1 2

(A) 70° (B) 90° (C) 120° (D) 100°
94, @b fqgrsd foafb (@R SRsire 1:3: 51 fageiva gges @b 2o ¢

(A) 70° (B) 90° (C) 120° (D) 100°
94. T AEIIAMN @ AERM TG 1:3 :5 | EH @R

(A) 70° (B) 90° (C) 120° (D) 100°
94, TH YT F A AN 1:3:5F ATI H 2 &1 S 1 Gad S HI0 ¥

(A) 70° (B) 90° (C) 120° (D) 100°
95. Which of the following does saliva in our mouth help to breakdown ?

(A) Starch (B) Protein (C) Vitamins (D) Fat
95. SN JA© 4 GO WHREARS (PG Koo 727 1 2

(A) o (B) AR (C) e (D) &
95. 6T (DA GG RIS [0S &TIeT] AR R 2

(A) o (B) celifon (C) wyeld (D) &
95. A Sl GfaeTa UrEl fawrRAmRE TS 2l 2

(A) TEfe (B) wfeA (©) fyarfm (D) #sH
95. AR Y H oR ffafad # 9 forges fasea § weg &t 82

(A) wH (B) WM (©) faafm (D) o
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96. Which of the following is correct ?
(A) Volcano cannot exist underwater.
B) Sea does not have any water current.
Almost 70% of earth surface is filled with water.

Land mass is almost half of earth’s surface.

96. ARG 71721 (T wT ?
(A) SIRFR ANR weTe IS AR @RIE |
(B) SIS (FICA 490 AT Gife TN |
Q) ISR THSIR A’ 70% Slal ATIE SRE S|
(D) ~JfRSR THARCI9 oI W@ S e TS |

96. WCx Trale (@D wa
(A) SCER I SRR ARCS #I1C 1|
(B) TER (FIG SEAHS 13|
Q) T e =’ 70% St TieeT 2l |
(D) <|fAS 27 AT SEF Ferelal |

96. TR e AR ?

(A) TG drEresT § e omn)

(B) TRl Si&lt € SRR T |
T-|M YA 70% SEFISTH S Sl e |
-1 -1 U1 wred |

5 B

96. frAfafed § 4 FA-T1 @& T2
(A) SIS I o 1S HN[G Tel 1§ Hehdl |
(B) TYE § HIE TTAURT el |
(C) gt i TR T AT 70% AT IHT F o1 g T |

(D) 4T Yol ST TS oh1 TN ST g |
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97. Who has been honoured with Assam Baibhav in 2024 ?

(A) Ratan Tata (B) Ranjan Gogoi

(C) Tapan Saikia (D) Ranjit Shekhar Mooshahary
97. 2024 TS PIF TP (IO FAN 2l 1 T2 2

(A) o GBI (B) <& aital

(C) ol *izFral (D) G® i< ==
97. 2024 AT SIF TP (TS A &AW B R 2

(A) o BIoI (B) W@ aital

(C) oo =ZFwl (D) 3fge o2 PR
97. 2024 HEAMEM M §9e HE! WA ST e ?

(A) WA (B) T Mg

(C) T wefRa (D) ITd IR qRIEr
97. 2024 H 36 dva 9 ford wEAa foran 7o § 2

(A) T T (B) IS

(C) 9 Sfewan (D) I IER qERR
98. Mark the correct word as synonym of “affluent”.

(A) Meeting (B) Discussion (C) Wealthy (D) Poverty
99. Who wrote Pride and Prejudice ?

(A) Jane Austen (B) Barbara Cartland (C) Agatha Christie (D) Virginia Woolfe
99. 22T W fAgvr < @I TR 2

(A) oW Srfew (B) =@ Ffocere  (C)  wmale FR (D) ifetm T
99. (T 2T G (25wl FTATR

(A) T TG (B) IFARIFoeme (C) Wl fFHG (D) wifeiw e
99. IS TUE FyfeT @ UR ferme ?

(A) S 3TA (B) WREN &eive (C) ofme fsrfe (D) wRFSf= 3
99. IrEE Ue Fyfeq foren foran ?

(A) S A (B) URANI ®ie  (C) wmen foheet (D) ST 9eh
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100.

100.

100.

100.

100.

Which of the following is NOT an Assamese novel ?
(A) Adha Lekha Dostabez (B) Deu Langkhui
(C) Xekh Pristha (D) Ontorip

fAafefe @G 9 SO S 98w 2

(A) ST IS (B) (M8 #RYT
(C) o = (D) @t
T N SO T2 77 2

(A)  Slal @14 (IS (B) (MG =IcYT
(C) ol (D) sl
e o ST 9 |7l ST ?

(A) e foran s (B) < oliEs
(C) &9 g= (D) TRy

fr=fafed § 9 sF-o1 T9faa 9= T8 82
(A) 3TN oG SETa (B) <ScINTEE
(C) ¥ g (D) I

101.

“The invigilator could not detect that the two boys were exchanging notes under his nose.” What
is the meaning of the marked portion ?

(A) With due permission (B) Right in front
(©) With active help (D) In small pieces of paper

102.

102.

102.

A six-faced die is made in such a way that the sum of the dots on the opposite faces are always
equal. Which of the following pairs is not opposite facing pair of the die ?

(A) 1,4 (B) 2,5 © 1,6 (D) 3,4

a3 @A At & fow Reprz armes St Aice @fs [siSrs 7 Jva 35 s smim e | fsfais
(I @R R sl [eiSe Hifde a1 2

(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4

G0 T AN GSSIE (OS] I T A0S [T JASTAR YD (@I91e1 FO T 2| T (&l
(eIl @2 AR >R [oKTe (siel 797 2

(A) 1,4 (B) 2,5 © 1,6 (D) 3,4
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102.

102.

< 1l M <RaE! e SR SR o 3o Sraimris o< R SSereE Sisdtsl §9M 1 e
I SIEAT o SREMA el SW HEl AT 2

(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4

T D€ W I 39 YR R STl ¢ fo faoia werer! W foigaii o1 = efien srer war §1 fefafea §
Y HH-1 gl 39 I 1 foradia sirer =@ € 2

(A) 1,4 (B) 2,5 ) 1,6 (D) 3,4

103.

103.

103.

103.

103.

Two bells A and B are rung such that the bell A rings at every 30 minutes and the bell B rings at
every 25 minutes. If both the bells start ringing simultaneously at 6 am, then the very next
simultaneous ring will be at the time :

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

WG! 951 A WIS B9 A 9GICH! @lfs 30 W59 303 @ Wi B 951G @S 25 e W= W@ ife o | 3w
TG 9512 6 am © GreTol 1S T, (or% 965! 751 @rreteal Afe Tt 56 #1<S | ! 2 8

(A) 8:00 am (B) 8:30 am (€) 9:00 am (D) 9:30 am

b 961 A @3 B GSSI(R A T (T 91 A @S 30 fSIiWCG Aicer @3 95 B eifis 25 WG aieer | 3 swie
6 51T ToT 51 G5B AN TS W36 F, O 26| GFCAo! SN AT 27 ¢

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

A 3T B 5= -G SIRGMfE SHAR SR SE A 1 Yaeh 30 Tafera Smeiel o1 B a1 gae 25 faftera 1 e
el T TS B 6 ReTare TsHl, STea o 5= 731 ARG Hisadl S SIS ?
(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am

q ifedr A 3R B 30 YR o St § foh 56 A Y& 30 fiTe W awidt € SR s B y@w 25 fre W
It § 1 Afe ST feal Gog 6 991 Tk WY S IE & S, 1 STTel Th 91 et T g9F 6

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

104.

104.

104.

Which of the following travellers had visited Kamrupa Kingdom ?
(A) FaHien (B) Hiuen Tsang (C) Al Biruni (D) Marco Polo

effie @ ]! Ao Tt ey gwd FiRiT 2
(A)  wifEw (B) T vik (C) SRR (D) W M

R Tle @i Aifaies Ficnel A sifaeis FEfReEs 2
(A) T-REw (B) fGm-e Q) SIe-F (D) TR colieat
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104. TEEE BHM o9 9Y SEEEREA HHET TESiAE AR e ?
(A)  wIfgaH (B) feswa =i (C) 3T o%T (D)

o o~

104. Tr=fafad § 9 f&g 6 7 MY WY 1 <R TR o ?

(A) HRIH (B) & M (C) 3T o&Al (D)

105. Which Continents does the Mediterranean Sea lie between ?
(A) Asia and Europe (B) Europe and Africa
(C) North America and Africa (D) South America and Africa

105. (PIN Y2 RIS (Ce TR SRIZO 2
(A) R == TSR (B) TT@I H=: S

(C) et ! S NIzl (D)  wfErel cfael s SNifp<sl

105. SIS (Pl 90 T=ATICR 0L SRES 2
(A)  afRI @3% 2T (B) TTEIP @R W
Q) T&F SRS @3 NIfF (D) wfErel SRR @3 iRl

105. SRR olelst o8 HiF gregdTt e ?
(A) T SR 3= (B) I3 IR 3Tfkeh1
(C) HI-3THfER & AR (D) WreT-STHiER AR et

105. AL WFR foh ARGl o o= e § 2
(A) T iR 79 (B) I SR STHIH
(C) 3T ARG AR STHIeHT (D) <feqor STARGRT SR STohieh

106. The sum of the roots of the quadratic equation 2x>—5x+3=0 is :

3 5
(a) 2 B 3 © 3 (D)
106. TRET® TN 222 — 5x +3 =0 I N (FLHR JI (AT (2 ¢
3 5
() 2 B 5 © 3 (D)
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106. @I e 202 —5x +3 =0 7 (& IS 29 2
3 5
(a) 2 ® © 5 (D) 5
106. 2x2—5x+3 =0 ST FHHLEM JSTRRM ST :
3 5
(a) 2 ® 5 © 5 (D) 5
106. fEoTd THIeRRO 2x2—5x +3 =0 % F&ll &l AM T :
3 5
(A) 2 B) 3 © 3 (D) 5
107. Which of the following is different from the rest ?
(A) Samaveda (B) Rigveda (©) Yajurveda (D) Ayurveda
107. WEERS (S NNEIROE 24T 2
(A) AT (B) ¥ (C) TG (D) SIgem
107. SIGA (A0 SR (ACH 24T 2
(A) AT (B) 3t (C) T (D) wIgem
107. TTREM Jd AFHAT TETRRAHRE &I ?
(A) R (B) fomrE (©) IR (D) eIz
107. frefafed § 9§ w1 afwal 9 fu=1 872
(A) HHR (B) REE (C) =T (D) 3TRYeE
108. A person moves from P to Q in a semi-circular path and then comes back to P by the shortest route,

108.

which is 4 km. The total path covered by the person in the entire journey is :

(A) @4m+2)km  (B) (@u+4) km  (C) (w+2) km (D) (mw+2) km

GG W02 P 3 %91 Q (61 SR el #2 Sfodrs (3 =% ©fF foze 4 6.1, (T g3 #[20d 771 P (71 97
NZ | TS SIoG ™ 1 AT I (7 (2R 8

(A) @r+2 =R B e+ R (© @@=+2 B (D) (2w+2) .M
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108. 35 e G JLFEFIF #172 P (AF Q T G STee7i7 Jerosl 212, ol 4 &ML, S I P-(©
(TR | S0 @R i 71 Sfog=e I (N #2257 ¢

(A) @r+2 &R B) Er+4RBR (O @@E+2RBR (D) @Er+2) B

108. HH MG GEEEATR & @M P HwE Q fom eremeeriet TRl aafrgs gfaw @, 4 fo.fa., 5 P fam
TR | o Tl T S9dl e ?

(A) @r+2)fwfm @B @Ee+4 e (© @+2f®ME (D) @r+2)

108. Teh A QSRR 99 § P Q Teh 9l ¢ 3R FoF Farg 1 AW § PR a199 3771 &, 51 4 foh. 1. &1 90
I B e gr1 9 TR T et TR

(A) @n+2) f®#H. B) QEr+4)fed. () @@+2)fE#A. (D) @w+2) A

109. Which two countries does the Gobi Desert touch ?
(A) Sudan and Egypt (B) Saudi Arabia and Iraq
(C) Turkmenistan and Uzbekistan (D) China and Mongolia

109. (FF 7 O (ol SReg i =il Sfcg 2
(A) TON < FfEd (B) (R W Wi 311

Q) TFCTBH e THRFBH (D) BN =i sigeanfer

109. (iR SFefl (@M 9o omits =i SacE 2
(A) MH @R 2E6 (B) CTI =7 @R ZAIF
Q) THEFEN R TEHRGBH (D) B @3 eswfern

109. 'St ST BT I¢ 8 A AeATS | ¢
(A) HeH I R (B) =M AR AR Tk
(C) THATEM AR ITeifched™ (D) <9 T Hrferan

109. et HEEere o < < o FAT R ?
(A) YoM IR = (B) Wl WA R H
(C) THufm iR Iefheam (D) < iR Haiiferan
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110.

110.

110.

110.

110.

On which island hillock is the Umananda Temple situated ?
(A) Bhasmachal (B) Sandhyachal (C) Nilachal (D) Chitrachal

[

(L g 1+ oo Txew sfvg safFe 2

(A) IS (B) =Ibel (C) TleTHa (D) Toaivat

@ R erg Twew Ifva s)kfEe 2

(A) IS (B) =IHel (C) leTHa (D) Toaivat

M= Af<U 99 5T geil-foermma < ?
(A)  vEHEA (B) E=EEA (C) Trer=a O REEES!

3RS Hi fohd wRret 51 W feem 82
(A) &= (B) HeATHdA (C) = (D) oo

111.

111.

111.

111.

111.

A tank can be filled by 6 pipes in 80 minutes. How long will it take to fill the tank by 8 pipes ?
(A) 45 min (B) 60 min (C) 48 min (D) 70 min

G5 (5= 6 T #A1Z7[ TRIAE 80 fufioe o T #iif7 | (GFCEI 8 Tie 11277 AR ool Ffcet fFww
SRS SACANGH 29 2

(A) 45 [IfG (B) 60 fIfD (C) 48 NG (D) 70 fIfG

G 2I1g 6 16 71 7R SR FAco 80 WG 7o #eal | 8 T 71 @il Gl ©HI6 F0e F© A AN 2
(A) 45 [IfG (B) 60 fIfD (C) 48 NG (D) 70 fIfG

g HAEE! T 6 Aifetsii st 80 fafte a1 71 8 Sifersii 9% Tiere @i ?
(A) 45 faf1e (B) 60 faf1e (C) 48 fafte (D) 70 fafte

Teh 3ohl I 6 TSI g1 80 THFe T W1 1 Tehal €1 8 UISHl g Zoh! ohl WA | fohaen 9w <vm ?
(A) 45 fqe (B) 60 e (C) 48 fue (D) 70 e

112.

Which of the following is a collective noun for ships ?

(A) pack (B) herd (€) swarm (D) fleet
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113.

113.

113.

113.

113.

How many times has Brazil won the Football World Cup ?
(A) Three (B) Five (C) Four (D) Seven

Peislol Fo3e (¥eTo Fifercet [Fulia A Txeire SRR 2

(A) fof== (B) ~ifoa" (C) vifa= (D) MeqR
QI TR FoAER el e 2
(A) fo (B) > (€ bd= (D) e

ST GgAl Feaet Q! IIY @M Bl ?
(A) &1 9™ (B) &AM Q) T (D) = f&

SIS 1 Fealiel fova Y fehat IR St © 2

(A) = (B) T (C) =m (D) ®@

114.

114.

114.

114.

114.

Which of the following mountain ranges is in Jammu and Kashmir region ?
(A) Pir Panjal range (B) Satpura range
(C) Dhauladhar range (D) Mishimi Hills

] S T S2eeTe TR (! siFowe o 2

(A) TR AlgE Ao (B) o9l “Riew&l
(C) (TN Aol (D) ol iizR

TR @I AT o777 @ S S2e0e SRITS 2

(A) TR SAlgle oo (B) el sifer=d
Q) (TR siforaat (D) fff ofize
ool il fafRan s TR SRR s ?

(A) TR o~ g fak (B) Hayx gr=h faRk
(C) dremr g faRk (D) fafafy s
frefafad & ¥ SF-5 T jaen S iR HeHR &9 1 €2
(A) oR 9T goit (B) wdgel 4uit

(C)  Hiemrer gt (D) fafertt 3ot
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115. (1% of 1)+ (2% of 2)+ (3% of 3)=?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

115. (19 1%)+(292%)+(3 T 3%) ="
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

115. (1 &3 1%)+ (2 €9 2%) + (3 & 3%) =2
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

115. 1 1%+ 2% )+ @ 3% )=?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

115. (1 BT 1%)+(Q2 1 2% )+ (3 F13% )="?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

116. The product of the mean and the median of the data set1,0, —5,3,0, —2,4,6, —4,1, 2is:

5 7 6 9
(A) 15 B) 13 © 17 D) 1

116. @2l 1,0, —5,3,0, =2, 4,6, —4, 1, 23 T S TN 7{eIFeT 8

(A 15 B) 13 © 37 D) 11

116. E%Wﬂgﬁ 1/ 0/ _5/ 3/ 0/ _2/ 4/ 6/ _4/ 1,2&?“% L‘]agﬂw @Wﬁg

116. @A™ 1,0, —5,3,0, —2, 4, 6, —4, 1, 2 T oY 3T AT AT ¢

(A) 15 B 33 © 37 D) 17

116. AW 1,0, —5,3,0, —2, 4,6, —4, 1, 2 F HA1EA AR AAHT HT PHES ¢

(A) 15 B 33 © 37 D) 13
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117. Sagor Dekhisa, a collection of Assamese poems was written by :
(A) Devakanta Barua (B) Navakanta Barua
(C) Banikanta Kakati (D) Rajanikanta Bordoloi
117. 799 (RIE IS SR Se] Aeadb! (i foral 2
(A)  RHT T3 (B) TRIE 37Al
Q) IATHIE FiHfe (D) GBI IWCA
117. 799 7z G0 PR SRl e, Feie 3
(A) R E (B) TRIT I
Q) AT Tl (D) TG IS I
117. IFR Ifaqr A9 s foaseE! IR formE 2
(A) <EHN TEAT (B) ekl aI%al
(C) fepa e 'fa (D) TSR SReel
117. EPR SRaq] e Qi swiaaisti 1 |§Ue fhaeh g foran man o ?
(A) SO ST (B) eIk S
(C) SteRid ShTehdl (D) TSHIhId SX&Es
118. Fill in the blank.
January was the month last year.
(A) Cold (B) Colder (C) Coldest (D) Cool
119. A person borrows a sum of X 1,00,000 at a simple interest of 6% per annum for 2 years and invests
the amount at a compound interest of 6% per annum for 2 years. After returning the borrowed
amount with interest, the person earns a profit of :
(A) R 360 (B) %120 (C) 480 (D) T 240
119. & 02 T2 6% FT 0O X 1,00,000 Gl 2 T2 A LI 57°C3T O TR 6% b T0© 2 T M
(72 41 R SR | G (TR 4 0SS0 ARG IR 2NZS T2 SISl 1 P e 2If 0ot 20z 2
(A) R 360 (B) 120 (C) 480 (D) % 240
119. &3 & 2 IFFF T AITF 6% 2 776 I  1,00,000 I 417 (778 3R (772 BIFl 2 T&4 &) JA1HF 6%

2@ vagfa o R 30 | 97 72 A& B (e (e #17 Ifefoe wifers o1 221 ¢
(A) % 360 (B) 120 (C) %480 (D) ¥ 240
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119. 9 AERAAT SERIR 6% R TR G2 BHH =R 2 f1 omam 2 1,00,000 I SRR oM SRR 6% 81
SRS Ge1'a arER 2 1 o T 6| SRR aEE T8 gEsit drie e o TR SEe Tt
e ?

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

119. T ST 2 |1 o T 6% Fiierd & FERT S48 T T 1,00,000 T TR IR A 7 SR 39 T 1 2 9
% foTT 6% gfdad & Tshgfg e W a9 a1 8 1 YR ot TS ThH =1 9fed ale T Sfad bl are gl
T
(A) T 360 (B) 120 (C) ¥ 480 (D) ¥ 240

120. The primary raw material used by the Assam Bio Refinery Private Limited is :

(A) Bamboo (B) Water Hyacinth
(C) Sugarcane waste (D) Banana plants

120. SFT (&9 (<&M 2E0eb BfNes Jaze AT oI 24 8
(A) = (B) ATl NI (C) IR wEA (D) FwrR

120. SPIY (&R AN 2E0es Fhibe 3 [kl a2 AL i 22 ¢
(A) = (B) JpfHei (C) SCeF TS (D) Tl g

120. W 91" RerAR 9. fafbesre swersmn e e gem -

(A) (B) Gferam (C) TR GH (D) enfer o

120. 379 s R geee fafies gR1 SwrT fhan S aren Jrerfien st 91d ©
(A) =™ (B) Siersht (C) T T e (D) el & WY

121. Which country controls the Suez Canal ?

(A) Turkey (B) Israel (C) Egypt (D) France

121. (A (0o [ e felgel 6 2
(A) o9 (B) TTiEs ©) zaw (D) =™

121. (I (O S e fofz@el e 2

(A) oIE (B) EEHIE Q) = (D) =™
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121. qUS A<E o6l Bl A ?
(A) TH (B) ESRITA (© (D) ¥

121. TS TeX &I HA- < A wa €2
(A) T (B) ¥R © = (D) W

122. Identify the correct definition of verb.
(A) Naming words (B) Things description words
(C) Action words (D) Joining words

123. A + B means A is to the North of B; A%B means A is to the East of B; A—B means A is to the West
of B; then in (Neptune % Saturn + Uranus — Jupiter) Uranus is in which direction with respect to
Neptune ?
(A) South - West (B) North - East (C) North - West (D) South - East

123. I A+BI 5L A (B BT Teq el =iitg; A%BI oL A, BI 9@ Stz A— B3I 9Igf A, B 3 #if¥53re i,
(ST (25 % *F + TR — IZI) © Folpe ATATE TTEAZ ! e g T 2
(A)  wEre-oifeox (B) T&-o[ (C) Te-If¥sw (D) wfapel-sfa

123. M A+B I A 1 B @3 T&&; A%B W A 21 B @3 57 (5, A — B W A 261 B @7 2IR60; ©izee
(G % = + TEEAP —JTIf®) (O THE @ 2R ACATE (T S SR(ZO 2
(A)  wfEFel-oifes (B) T (C) Tem-iffow (D) wfERes

123. Sf< A+B T siiferan - A =1 B 1 9wif¥; A%B a1 - A9 B S0, A—Ba1 - A a1 B WA@Y, steet
(FTTGA % IR + 33 — FeSA(aig 37 ) I TIGAH Fafef ?
(A) Te-dFEd (B) |- 9 (C) H1-FHEfy (D) @Il - Fs

123. ACA+BHF NI TR A BFSRAR, AUBHF I SfHF A BF AT A-BH A4 B fF A, B afdem

HE (0= % 9 + 959 — ge9afd) § Fo=d & gy # Gy fong fan § 772
(A) fEo-ufem (B) SW-@ (C) SW-ufe=m (D) afor-gd

Paper-IVID 66



124. Identify the water reflection of the given figure.

(A

~

)
T

1

(B)

_ 7
—

124. ove bas T efowee Bacs! e << |

N

(A

~

K

(B)

_ 7
—

124. 24ve BHrad SR Ao Aqie I |

)
T

1

124. B HEAMRA 219 ffweE faam |

(A)

Paper-IVID

67

o

o

o

P.T.O.



124.

feu U o= & S wfafss = g8 |

i)

[
1

_ 7
—

R
@ |7

o

125. Who amongst the following is a wrestler ?
(A) Baichung Bhutia (B) Lovlina Borgohain
(€) Sushil Kumar (D) Karnam Malleshwari
125. RS @RS @ SEEl ¢
(A) SRR GO (B) TSI <oa®
(C) 7T R (D) =l TS
125. WRERCWMR M& (F 96w FRBAR ?
(A) iRl (B) wISRMI FRCaN
Q) PTeT IR (D) RN St
125. T HR W1 THATHI 2
(A) g yfen (B) Afer TR
(C) Ut FHR (D) HTOTH Heowad]
125. Frfafead § | &M e €2
(A) = s (B) eI SRR
(C) Yt FAR (D) hUIH Heeladd
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Read the following passage and answer the questions (126-129) that follow :

Today, bicycles are elegantly simple machines that are common around the world. Many people ride
bicycles for recreation, whereas others use them as a means of transportation. The first bicycle, called a
draisienne, was invented in Germany in 1818 by Baron Karl de Drais de Sauerbrun. Because it was made
of wood, the draisienne wasn’t very durable nor did it have pedals. Riders moved it by pushing their feet

against the ground.

In 1839, Kirkpatrick Macmillan, a Scottish blacksmith, invented a much better bicycle. Macmillan’s
machine had tyres with iron rims to keep them from getting worn down. He also used foot-operated
cranks, similar to pedals, so his bicycle could be ridden at a quick pace. It didn’t look much like the
modern bicycle, though, because its back wheel was substantially larger than its front wheel. Although

Macmillan’s bicycles could be ridden easily, they were never produced in large numbers.

In 1861, Frenchman Pierre Michaux and his brother Ernest invented a bicycle with an improved
crank mechanism. They called their bicycle a vélocipéde, but most people called it a “bone shaker”
because of the jarring effect of the wood and iron frame. Despite the unflattering nickname, the vélocipede
was a hit. After a few years, the Michaux family was making hundreds of the machines annually,

mostly for fun-seeking young people.

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design. He made the front wheel many times larger than the back wheel, put a gear on the
pedals to make the bicycle more efficient, and lightened the wheels by using wire spokes. Although this
bicycle was much lighter and less tiring to ride, it was still clumsy, extremely top-heavy, and ridden

mostly for entertainment.

It wasn’t until 1874 that the first truly modern bicycle appeared on the scene. Invented by another
Englishman, H.]. Lawson, the safety bicycle would look familiar to today’s cyclists. The safety bicycle
had equal-sized wheels, which made it much less prone to toppling over. Lawson also attached a chain
to the pedals to drive the rear wheel. By 1893, the safety bicycle had been further improved with air-
filled rubber tyres, a diamond-shaped frame, and easy braking. With the improvements provided by
Lawson, bicycles became extremely popular and useful for transportation. Today, they are built, used,

and enjoyed all over the world.

126. The first person to use a gear system on bicycles was :
(A) H.J. Lawson (B) Kirkpatrick Macmillan

(C) Pierre Michaux (D) James Starley
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127. Macmillan added iron rims to the tyres of his bicycle to :
(A) add weight to the bicycle (B) make the tyres last longer

(C) make the ride less bumpy (D) make the ride less tiring

128. Read the following sentence from the fourth paragraph :

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design.

As it is used in the sentence, the underlined word revolutionized means :
(A) cancelled (B) changed drastically

(C) became outdated (D) exercised control over

129. Which of the following statements from the passage represents the writer’s opinion ?
(A) The safety bicycle would look familiar to today’s cyclists.
(B) Two hundred years ago, bicycles didn’t even exist.
(C) The Michaux brothers called their bicycle a vélocipede.

(D) Macmillan’s machine had tyres with iron rims.

130. Find the analogy of the relation between the words from those given below on the basis of the
indicative uppercase word-pair preceding the choices.

SHELF : BOOKCASE

(A) arm:leg (B) stage:curtain (C) bench:chair (D) key: piano
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131. This application was written a pen.

(A) by (B) with (C)  off (D) nib

132. Choose the correct pair to fill up the blanks :

He put some on the hinge, so that it should not
(A) oil, squeak (B) water, spill (C) colour, stand (D) paper, seat
133. Everyone admired his courage.
(A) at (B) of (C) for (D) no word required

134. Read the following passage and answer the question that follows :

Light pollution is a growing problem worldwide. Like other forms of pollution, light pollution
degrades the quality of the environment. Where it was once possible to look up at the night sky
and see thousands of twinkling stars in the inky blackness, one now sees little more than the
yellow glare of urban sky-glow. When we lose the ability to connect visually with the vastness of
the universe by looking up at the night sky, we lose our connection with something profoundly

important to the human spirit, our sense of wonder.

The passage implies that the most serious damage done by light pollution is to our :

(A) art history (B) sense of paleness

(C) cultural advancement (D) questing spirit
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Read the passage and answer the questions (135-137) that follow :

Reality for human beings is not action or feeling but meaning. Humans are symbol using creatures; a
symbol is anything that carries a particular meaning recognised by the people who share culture. A
whistle, a wall of graffiti, a flashing red light, a fist raised in the air—all serve as symbols. We see the
human capacity to create and manipulate symbols in the various ways a simple wink of the eye can
convey interest, understanding, or insult. We are so dependent on our culture’s symbols that we take
them for granted. Often, however, we gain a heightened sense of the importance of a symbol when
someone uses it in an unconventional way. Entering an unfamiliar culture also reminds us of the power
of symbols; culture shock is nothing more than the inability to “read” meaning in one’s surroundings.
We feel lost, unsure of how to act, and sometimes frightened —a consequence of slipping outside the
symbolic web of culture. Culture shock is both what travellers experience and what they inflict on

others by acting in ways that may offend them.

135. In the context of the topic of the passage, when do we feel lost, or frightened ?
(A) When we lose in a competition
(B) When we slip outside the symbolic web of culture
(C) When we cannot locate our action

(D) None of the above

136. How is reality defined as in the passage ?
(A) meaning (B) action

(C) feeling (D) web

137. In the context of the passage, which of the following does not serve as a symbol ?
(A) whistle (B) graffiti

(©) flashing red light (D) culture shock
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138. Choose the sentence that correctly communicates the meaning in the following sentence.

(A) Barua was usually able to catch the six thirty-five train from Guwahati

(B) Barua was usually able to catch a six thirty-five train from Guwahati

(C) Barua was usually able to catch on six thirty-five train from Guwahati

(D) Barua was usually able to latch the six thirty-five train from Guwahati

139. Put the verb in brackets into the present perfect tense, and fill the space by repeating the auxiliary.

Where you (be)? —

I (be) to the dentist.

(A) have you had, I have been (B) have you gone, I have been

(C) have you been, I've been (D) went, I went

140. What would be the synonym for the word educe ?

(A) demand (B) elicit (C) ideal (D) unlawful
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Read the following passage and answer the questions (141-144) that follow :

The Okapi, a forest mammal of Central Africa, has presented zoologists with a number of difficult
questions since they first learned of its existence in 1900. The first was how to classify it. Because it was
horselike in dimension, and bore patches of striped hide similar to a zebra’s (a relative of the horse),
zoologists first classified it as a member of the horse family. But further studies showed that, despite
Okapis’ coloration and short necks, their closest relatives were giraffes. The Okapi’s rightful place within
the giraffe family is confirmed by its skin-covered horns (in males), two-lobed canine teeth, and long

prehensile tongue.

The vital question concerned the size of the Okapi population. Because Okapis were infrequently
captured by hunters, some zoologists believed that they were rare; however, others theorized that their
habits simply kept them out of sight. It was not until 1985, when zoologists started tracking Okapis by
affixing collars equipped with radio transmitters to briefly captured specimens, that reliable information
about Okapi numbers and habits began to be collected. It turns out that while Okapis are not as rare as
some zoologists suspected, their population is concentrated in an extremely limited chain of forestland

in north-eastern Central Africa, surrounded by savanna.

One reason for their seeming scarcity is that their coloration allows Okapis to camouflage themselves
even at close range. Another is that Okapis do not travel in groups or with other large forest mammals,
and neither frequent open riverbanks nor forage at the borders of clearings, choosing instead to keep to
the forest interior. This is because Okapis, unlike any other animal in the Central African forest, subsist
entirely on leaves: more than one hundred species of plants have been identified as part of their diet, and
about twenty of these are preferred. Okapis never eat one plant to the exclusion of others; even where
preferred foliage is abundant, Okapis will leave much of it uneaten, choosing to move on and sample
other leaves. Because of this, and because of the distribution of their food, Okapis engage in individual

rather than congregated foraging.

But other questions about Okapi behaviour arise. Why, for example, do they prefer to remain
within forested areas when many of their favourite plants are found in the open border between forest
and savanna ? One possibility is that this is a defence against predators; another is that the Okapi was
pushed into the forest by competition with other large, hoofed animals, such as the bushbuck and bongo,
that specialize on the forest edges and graze them more efficiently. Another question is why Okapis are
absent from other nearby forest regions that would seem hospitable to them. Zoologists theorize that
Okapis are relics of an era when forestland was scarce and that they continue to respect those borders

even though available forestland has long since expanded.
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141. Okapis stay within the forest interior. The passage relates this to the of the Okapi.
(A) scarcity (B) mind (C) culture (D) size
142. Zoologists assume that Okapis are relics and they respect the forestland borders. It means :
(A) Okapis are humanoid creatures
(B) They are culturally inclusive
(C) They communicate with other bordering creatures
(D) None of the above
143. The function of the third paragraph is to :
(A) pose a question about Okapi behaviour
(B) rebut a theory about Okapi behaviour
(C) counter the assertion that Okapis are rare
(D) explain why Okapis appeared to be rare
144. The word hide in the first paragraph means :
(A) smell (B) evade (C) skin (D) land
Change the following (145 & 146) into passive voice.
145. Previous climbers had cut steps in the ice.
(A) Steps had been cut in the ice (B) Steps were cut in the ice
(C) Climbers cut steps in the ice (D) Steps cut in the ice by climbers
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146. No one can do anything unless someone gives us more information.

(A) Nothing can be done without giving information.

(B) Nothing can be done unless we are given more information.

(C) Nothing can be done unless someone gives more information.

(D) Nothing can be done without information.
147. Which word from the following is similar to beckon ?

(A) light (B) beg (C) motion (D) hear
148. Which of these words is closest in meaning to the word kin ?

(A)  exult (B) twist (C) friend (D) relative

Read the following sentences (149 & 150) and try to choose the best definition for the italicized word by
searching for context clues in the sentence.

149. Mr. Powers was so gullible that he believed even the most outlandish excuses of his insincere
employees.
(A) intelligent (B) naive (C) dishonest (D) critical
150. The new shipping and receiving building is an expansive facility, large enough to meet our growing
needs.
(A) obsolete (B) meagre (C) spacious (D) costly
-00o0-
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